Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

A Paper : I

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o IR WA Ml SAFES /(@ET “ae YAR FHa PR AR, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC F5eE ol
RIS SIS | (RICT! 2[R oS /@i “Iqe sl 3 JFe 1909, (S0 (& (SSTF
s 31 4f9 @RI Ea |

o R FHNT AT (9 LAWEAT B4l (rough) FW exFFos il SizeE F i |
AN 461 (rough) FI TG A1 Al B (FICT 76 FloIErs I R | Teq “[aq I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 & #[@q I 341 7927 |

o S 2T AT AMHITF €= Vg OMR T&F *[qrz 7l 27 | G 2T I WT IR
SReRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *_=IA@ ¢z [HE OMR Ted 7o
ERJFCT T, LFTOT T, BGIW AR @ ATl /F 2N -5 (I 7 Pl
R |

o [SFFIT T 2 T AT eHFToe 135 T o T WE ATORG! AT AW 1 TS
2 |

o & TG AT (PITA! AN = e |

® TIFAIRIR © TR A AFINET OMR Te 2[qS el /F 3l I1-936 (02 T2
A AN |

o “RrFIdi (OSTEIRT RA To M @ erTire erpHR RO 279, @ PN,
ST, 0T, ot T RAE! | @2 CFgS ARG A FRFIS @I 4701 s Tz 3K
(oIS PRIl 2 T8 3R TRFIEBIP2, 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITE $'T TG OMR Tes g S 5i%® forat 27 |
TriRgemRc, ATINE 429 T4 ARNFIFOI TG ‘A’ QifFET OMR Tee A ffws 5i2S ‘A’
1R =R =i e I8 ‘A’ (6f 331 I AR | emiros (]t [pmeie @i IS
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |
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I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrFiaE R e ToIRERs /@ #Ita YA FEFA 0o 2, AR Od 2100
FCF P 22 FAF TNE R ORI OMR T@d7[@ W3k 2<@fs 9w ol (eaid
TR | (I AR ST /e #itq A TSR Fw 1 T, SR Ot S+ 0
/e[y T 204 |

o SIS AT HE ARG T (rough) IS %08 (ST BT FACS ARE | 21 rwih
2T (rough) IS TG 1 S (FI7 LR FI9E FACS AR 1 | AW 27wt @3 27!
(rough) T TEIITq FCA, OCF G2 TEICGH TeR Bl 2 1 |

® 7T IR & ANFIANET ¢ g OMR Tea7@ (7eq X | G T A WF TN &
SR (e Teaig (e I A |

® 2R[(TF A «Fb OMR @@ (eql 2@ | #Ia=cs G2 (e OMR Tereitq emitas
T, ePEIIR (T TSI AR WYAG o1 /FICE IT-A@S o =T 5] FH00 2 |

® [SFPIF TR 2 TGB! ¥R &g 135 b el AT @R 2oFH T Ty 1 791 I i
R |

® o TG T (I YA TH AP |

® 5% O (FTLF G AHITE OMR TGRIGT 1161 /FICE I -&H (7] 2T PACS 2(A |

o TR OITE RIS T ATS 2@ @ WA ST IS 2@ | @~ SR,
A, AT, TR @R TG | @3 CFG TGN ORI (I LR SEHRS ST (@0
P BCF BRG] AHANDE LIPS W 03 91T FHCH |

Important Instruction :

o *JArwTy iRee 267 BT ATS eRotEd (I THAG OMR Ted7itad e B @t = |
Trizger, AR ST 2poitEd (IS ‘A’ AFE OMR Teg20a iR 2 ‘A’ fordre 2@
G B 78 ‘A’ T 10N TA0S 23 | IGg (I SPTHRS (YT ARTIS) SRR Raglh e
R R 2Raft 379 TACS 910 |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |

BT
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

e Jfc Non-Standard OMR Sheet STEEAT ST, fSA@@ET@T MEaT-Maf HIR TR (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame s gars e 96, fifaame Seer
T 3riTe @umETe Tifl dFE JEE A AR @are g fae 3T OMR e faersat
TREATET ST S TuTd | SReT AR JenferT /B feersare 4y wsf aew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsrrEmn el MaE Y@M THT ST rough FERE GiFM™ foaTsaaE ! @Al g |
feA=@™T rough TEE AR foeTsaE T oA TEWH @S SeREl FE 98 |
foemgama IfE & rough FTETE! WIETH! 376eT T foaTsE! QUMY Q™ STHE 7T |

o TTHE FHEMA U™ e THe” OMR A= faeme 2w wrme | mRf Seen 19
o st st foemar ferette @ s 9= |

o T faags @rmE TH OMR T faeg gq@ sme | femmeamn & &1 OMR e
ATRATE AT - : TR foersty Ter om0 d@ e foemst &', waf w's smfe safeet
e el TS T S-St et e |

® IHIEH THT 2 U= IR A foemgang Ii9 135 HifY YA 3T WFhHe! FiFEE-l e
TRt emEm 1 T U |

o TR fFrafy aram™ Set g’ AR 19 |

o foHERT OMR e faamsame @rfet e TRl W Seu-siEl et Qi@ 3179 Qe
AT |

o 31aTe B it gleenfy e merme arfgamn @it @ faemst et gimer me
Taie SITTH, SR 3TEHE, s7a1, U, &< A1 3UiS | o ST Jres fosli T BiEeEE s -
51 T GRS TSI SRS SUSTE BTG M A1s BT S5 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
T g AR | fafefer anfed femmrmmn g dinr et e <A’ @t e et &
SR G e e ‘A o e o for sieeE e At e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |

o
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu Tu 3ufefa /Ae 3fic W & IR SR T TR, TEeh 91 e o &
¢ 3R g IR WA gf&qeht 3T OMR -9 f{ieeh i Hiad o &g | 3R fohelt wliemelf 4
Iufefa /U 3ffe T e gedter T foha, @ 3| wdeneff s rufeera augn s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T o T weh | wdieefi W
(rough) T IT-9 A7 31 Forefl T8 & HITe W & L Febil | I qhiemel Sa-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t foan S | Tetdt §H R a1 g & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-97 fean smom | wiieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Toraxor FaT & shadl el AT el sicl-
Ui5e U | W |

® Ui ST FHA 2 U BTN 3 ¥4 GfEqehl § 135 T &1 3TR Tesh T o foTw 1 376 i |

® T 3T o foTU whig TehRIceh 3k =1 g |

o TR 1 38 T8 T 3K OMR IT-T3 W hael Tl AT AT STA-Tige 9 & |t FIAC
AT B

o wlieneff 379t glaen o foiu e T T T gfcent w1 Tl SR Sg-wTfves 8T, S — ST,
s, srel, fewd) 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 3TATE i & HEl W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /ST R e @ | SeTEwREEy, afe ulenelf fit uv gieaet @ @i ‘A’ @, @ OMR
IT-US | e ‘A’ foremn grm 3R o=t A’ Rt el h1 g | afe W gftaent | g e o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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@R AN RE @ 5T s=[Es ?

&) FFrEel (B) g el
(C) TR D) P
1. foEfmE aEiRee s<iEs wi
(A) TRETRrS! (B) g gl
(C) T=2 (D) T
1. fyeifen anfeasn =g 2
(A) IeTehTl (B) e fewedt
(C) wmiE (D) Tt
1. forfenamifee dfR@? |
(A) i B) s feeet
(C) wmid (D) Tt
1. The Victoria memorial is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal
2. T AT (FERY (YT oA &Ze F ?
Q) fBeEr e (B) :fCE
(©) e, vb foe D) 2AE
2. TS SRR IR *1RITS &= Wit Sigxierze] SRR ?
(A  TGorT &1
(B) ¢ 7aCed (e
(C) =3 70 (1T
(D) - dre
2. o gEe 99 ¢ ST Hiee ol & STErl il ?
A) foue s (B) < femdm
(C) T8, e fesdam D) T
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f&m g fopd g6 3R hiee TIgH | Wi ofdl & ?

(A) feuet s (B) wisiglishidre

(€) wg-gre, HH gl (D) &€

In which track and field sports does Hima Das participate ?

(A) Triple Jump (B) Long distance run
(C) Sprints, Short distance (D) Hurdles

fOad, 2021 I “SP7 " 6! (i ! GG &Wie F41 (2 2

A) GeoZ=I1Y G (B) T Bibt

(C) o fam (D) SsTers! w

Or™E 2021 @ “OPT (ST SFHIE @ YRS R ?

(A) Toarome GRS (B) Fo Gibl

(C) o [ (D) e v

3. 2021 U fSHmR gHATE ‘3™ Sud SRE! STSTET 31 91 7
(A) e o e (B) T 2w

(C) T fom (D) IHAYNT T

femrer 2021 & “arem A9 § ford g fopam mam o 2

(A)  forels e e (B) @

(C) o form (D) 3THAYMT T

Who was awarded the “Assam Baibhav” award in December, 2021 ?
(A) Jitendra Nath Goswami (B) Ratan Tata

(C) Ratan Thiam (D) Amalprava Das

TEE @R @RI @ 52 k%S ?

(A) Emt (B) TG

(C) ™=zl (D) SREMRM
TE™ @A GO @I R[S ?

A) mt (B) i

(C) =TI (D) SEEm
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4, T A RfeAm e ?

A =g B)

(C) Hegom (D)
4, TgodwRfem  #dfemR)

Q) = (B)

(C) wHgHmm (D)
4. Narendra Modi Stadium is situated in

(A) Baroda (B)

(C) Mehsana (D)

Surat

Ahmedabad

5. MPLAD SI6fT® LAD 3 3¢ St (a(2 :
(A) Local Asset Development B)
(C) Leading Asset Development (D)
5. MPLAD “R<3HIt® LAD 310® 1 Q@I 2

(A) Local Asset Development (B)
(C) Leading Asset Development (D)
5. MPLAD #&¥ifg 319 LAD 31 ATE! BRARI ?
(A) Local Asset Development (B)
(C) Leading Asset Development (D)

5. MPLAD IS5+ § LAD &1 &7 318 & ?

(A) Local Asset Development (B)
(C) Leading Asset Development (D)

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

5. What does LAD stand for in MPLAD Scheme ?

(A) Local Asset Development (B)
(C) Leading Asset Development (D)

Local Area Development

Local Area Distribution

SLRC-2022/P-VA 8



@I 9] Tfes T Siowt Tl T siew F1 27 ?

(A)  CoItsPes =<1 (B) wifeTe] 941 (G2l
(C) feimm (D) 3w o™ 3

DR ST SPAH SIS I> Fol or<or Triofe] 511 2 2

(A) TStamE I (B) IRt 321 ((eZel)
(C) fexiwm (D) g confw 3

R g SR sramEE ‘wfreh e @9 (Abhiruchi Sports Day) G
w7

(A) e FHAT (B) THTITET S%3TT (W&dT)

(C) Temem (D) T Ms< §%31

3rm § rfiref wet feae feraes e or wamn iTar 2 2

(A) AR S&ET (B) WiAIfcTET &1 (HEaT)

(C) Tewmem (D) T TITorg Sr%a

On whose birthday is Abhiruchi Sports Day celebrated in Assam ?

(A) Bhogeswar Baruah (B) Monalisa Baruah (Mehta)
(C) Hima Das (D) Radha Govinda Baruah

ferferfars (FITICo! =T ST I STEel5e] AReTe FICR ?

Q) fea (B) Mz’
(© faarE (D) @R=B
ot SRS BSER MR (@FRH SO S5 SITTAR S0 TREs IR 2
@) e (B) (=i
© farg (D) @R=G
MR e ST ATEHE! SR JewrsT SR ?

) feu (B) wfigre
(C) femr (D) @R
Frafefad @ @ S 91 M 376 61 TRTEA IS Y TS 8 ?
A fars (B) wwefiER
(C) feg (D) @R
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7.  Which one of the following places connect Assam with Arunachal Pradesh ?
(A) Dirak (B) Baxirhat
(C) Dimapur (D) Jorhat

8. 3fese fofee bifdz (1CS) “19Fre el @I P 22w SIS I Fie it 2

(A) EINEH N2 (B) I <l
(C) T=vH 3=l (D) ISt epiw Jel
8. PN (UF @ e @iew 3fezi Pifes i (w2.51.901.) 45! Teld zrfaeEs ?
(A) G S TR (B) I+ Q1 J<el
(C) T=vm F=Fl (D) ISt epim F=3l
8. fewm fafae wnfde’ 1CS) srse@ Ram grm smam fifafim g gan o ¢
(A) SITEERT AHYE (B) 3T TH §%3TT
(C) oH =5 sl (D) UREfd JETE T3
8. W fafaet e (ICS) THal Ui i Tt 318H o Ugel SATeh i o ?
(A) SITE=ERT AHYE (B) 3= TH &l
(C) aweg sl (D) el THTE S

8. Who was the first person from Assam to clear the Indian Civil Service (ICS)
Examination ?

(A) dJamchonga Nampui (B) Anundoram Barooah
(C) Hem Chandra Baruah (D) Parvati Prasad Boruah

9. “eloP [FIE @ I ST Reroyd efefa A AT mifReeT Jai! @i
SRR e ?

(A) RGN @RFhl (B) WZF T
(C) TR SAESIF fEH (D) <= Si2E
9. “afelb e «3(b e @3 oo afsfea o’ — MR 2 Jafb & Torgem
AR ?
(A) WGRE TR (B) W23 @Y
(C) I G TS5 (D) e SR
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9. “HHBMEl U™ THE 3R 3¢ e €7 — g sure fefirmf feenfRet ar
fegai 7
(A) SIS Thehfer (B) Hrgehet thre
(C) & 3mEh R (D) 3Tesé TS
9. forer wiifershl < T <l | Tt fop g2 fobarm <l s SR feormdia wfefsran & 87 2
(A) ST Shehferd (B) HTSHA B
(©) T EHF YA (D) 3o FETE
9. Who put forward the law of physics that “Every action has an equal and
opposite reaction” ?
(A) Benjamin Franklin (B) Michael Faraday
(C) Sir Isaac Newton (D) Albert Einstein
10. eI Ao 529 4wa = <5 2
(A) TR (B) =M
(C) i (D) 2w
10. TERIFER A =277 A Fi 2
A) TR (B) =EMS
(€) PRl (D) =r&gH
10. Tty ToumEf teT w ¢
(A) e (B) &R
(C) rsd (D) @rqH
10. fSamed i T wEt R 2
(A) T (B) &R
(C) wrR (D) @WREH
10. What is the capital city of Zimbabwe ?
(A) Nairobi (B) Harare
(C) Cairo (D) Khartoum
SLRC-2022/P-VA 11 Eﬁ P.T.O



11. ¥ WK &6 (UAE) I 391 1N 5 2
A) == B) e
(C) fosa (D) T
11. 1S O Wiz (UAE) Juie $1 90 2
(A) e B) ==
©) fomzm (D) T
11. SATE 3R Al U @i ar ?
(A) @=a (B) feTm
(C) fednm (D) kel
11. TIH 3RS WA (UAE) FH ggr s g 2
(A) w=4 (B) fem
(©) Tegm (D) fishet
11. What is the currency of United Arab Emirates (UAE) ?
(A) Ruble (B) Dinar
(C) Dirham (D) Shekel
12, T e F59S TGS TGIGR (TG SEES ?
(A) TOG[ HF FERIRE (B) 9118 =T @E2i6
(C) TN S “{2%6ag (D) TTzT o1 e
12. T i 909 N TR (TG S ?
(A) TG R FERE (B) waite @R @26
(C) TN @R “f2%e7g (D) T&Fre ¢k @mife
12. e TRTR e TToRTE R TR0 A (Se) 3715 ?
(A) IR I et (B) ifa 3R ARETe
(C) SAfireTT 7RI vt (D) TesETe STRI YT
12. o Q1 1 & i § TR 3 fera 8 2
(A) TR 3R iR (B) a3 ARER
(C) e S e (D) fespre 3iv dumsh
SLRC-2022/P-TVA 12 E@_



12. Between which two towns is the Naranarayan Setu situated ?
(A) Tezpur and Kaliabor (B) Nagaon and Jorhat
(C) dJogighopa and Pancharatna (D) Dibrugarh and Dhemaji
13. SR A RG] 1 (T Siifee] ?
Q) vES Fikg (B) wtsma Bz
(C) Tcem Prez (D) w9 Pz
13. SN reCed O el ¢F et ?
Q) vEs kg (B) artsma Bz
(C) T PR (D) 7 Pz
13. 3TEM TSI STET TSl §RaH ¢
() =5H g (B) i feig
(C) wuor &g (D) T g
13. TTEM ATHTSY I AT T i o1 2
(A)  gehid g (B) Siriwen férg
(C) wHerRR fiig (D) i fog
13. Who was the last king of the Ahom Kingdom ?
(A) Chandrakanta Singha (B) Jogeswar Singha
(C) Kamaleswar Singha (D) Purandar Singha
14. R @ETF PO O W SR O 20 S IS C2feeT ?
@) T (B) MR
(C) Taffq D) TEEIR
14. TR QEIERE A0S o (@R SR o SRl 22 @ s epiie 2wt :
@) (B) e
(C) Talffa D) TEIE
14. ALY SASFEATH “30 AR IMYAR <o AT fiferia 81 Breas=me= 7
(A) T (B) AR
(C) Sirfats (D) TR
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14. AEHATY SadT shi Hidar “37 7R STIR ¢ Tgeft I Teh1iard g3 off
(A) wrEH (B) 3G
(C) <Hfsd o (D) AR H
14. Laxminath Bezbaruah’s poem “O’ Mor Apunar Desh” was first published in
(A) Bahi (B) Orunodoi
(C) Jonbiri (D) dJonaki
15. TI%P (PITe P9 Il 52 ?
(A) W it (B) frferenzs
(C) RYIDH (D) 2RI
15. RS I GO Arereiall =12q ?
(A) W i (B) ferfersiizs
(C) el (D) =AZTE
15. 3T 9 et TS ?
(A) @reT HITE (B) forefift=a
(C) M3 (D) oT$eATg
15. Shich ToTerHfl TEX & —
(A) gfeqor spife 61 (B) Torefidia =
(C) SSHfRI = (D) uTSets =i
15. Bangkok is the capital city of
(A) South Korea (B) Philippines
(C) Indonesia (D) Thailand
16. TN IR 3 PIRce SPTE JUNaE! (i (e ?
(A) et @ptm pfery (B) *R< b P12
(C) femeam crf (D) Tl Faaal
16. TalFTIl FWCET R 2RS! SPTCE ! T2eem 2
(A) =Tl @pim ool (B) *@e 5% Bz
(©) oM s (D) TNl Al
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16. AT steAf SR TR smmammfy firfy wfly e 2
(&) fomren s =ferer (B) ¥ = feram
(C) o Afy (D) e SRR
16. T SREet 3 qLd S1G 3THH o JEIHaT hiF & ?
(&) femren s =ferer (B) =iz fiie
(C) oo afey (D) Tl ST
16. Who was the Chief Minister of Assam immediately after Gopinath Bardoloi ?
(A) Bimala Prasad Chaliha (B) Sarat Chandra Singha
(C) Bishnuram Medhi (D) Golap Borbora
17. PR SR et Rimemee @ 912 2if+re t2fe ?
A) @D (B) @Azl
(C) foeme D) e
17.  SPI 2le fofeea waifmiem (i afelos zufee ?
A) @@= (B) a1l
(C) o= D) e
17. 3w fifafm gewrmEe srEEfaa (Medical College) @ S&T TRGHAT SEHM 7
(A) SR (B) T
(C) R (D) fegme
17. 315 o Ugct Higehel ehiciel ohl TATIAT el g3 ot ?
(A) SR (B) T
(©) foem (D) fesme
17. Where was the first medical college of Assam established ?
(A) Jorhat (B) Guwahati
(C) Silchar (D) Dibrugarh
18. faferie e o2 e g frrebal 2

(A) SFAN (B) T
(C) wIHRM (D) i+m
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18. e i i W gt 1geTal 1 ferebow 2
) BTN (B) =wiam
(C) TIP™AmM (D) «lam
18. TEEM oe SRR e feeefi Ta g ¢
(A) TeIH (B) =™
(C) Forehetreme (D) &g
18. Tfetfaa & @ & |1 v = fooefl o Mepe 2 2
(A) TeI™ (B) ™
(C) forehetrse (D) &eTg
18. Which of the following places is adjacent to New Delhi ?
(A) Gurugram (B) Nandigram
(C) Secunderabad (D) Dhanbad
19. SISt (A% (T4 O &ife] @i wifeet ?
A) fefeers (B) el
(C) Teaiza (D) =99
19.  SISfIeB 2B (I (TR i) i freere ?
) Frefaere (B) Tl
(C) A (D) 2ETle
19. TR 9= 371 99 FIeUH ST METs M ?
&) =i (B) et
(C) oA (D) swivg
19. AFE 9= tﬁf T off
&) =t (B) Tt
(C) FREw D) ¥
19. Margaret Thatcher was a former Prime Minister of
(A) New Zealand (B) Canada
(C) Israel (D) England
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20. IR S HEAHIS 1S9 STl (2 :
(A) IS e (B) TAMRR &t
(C) L& 4 (D) % et
20. IR G2 SR N0 SeTelol A e 24 :
(A) IS e (B) TARR &l
(C) IS A& (D) I e
20. &F TR TR TSI AFR ¢ I8 (Body of water) @ A1 G ffomn 7
(A) o™ % (Canal) (B) SfGTEI-gITE (Strait)
(C) Hua % (Canal) (D) U §I-G (Strait)
20. & 3R FTATER & g I T 2
(A) T TR (B) ST SeESt
(C) TR (D) U TAEAS
20. The body of water between Russia and Alaska is
(A) Panama Canal (B) Bering Strait
(C) Suez Canal (D) Palk Strait
21. TRl @R 523 AoN-Se S[Es 723 2
(A) IRAAE[F (B) waR
(C) T2 (D) I
21. foIC SralRreme W (IR SRTed TTORTS! *=e =17 ?
(A) TN (B) waR
(© TR D) Tt
21. TIERTE R YA oo TEL3TT el T T8 ?
(A) SiTeTE (B) =3
©) T (D) e
21. f=ferfaa o & o wa 1 agg fF 1 e A R 2
(A) STeL (B) ==3
©) T (D) =hifs
21. Which of the following is not a sea-side city of India ?
(A) Bengaluru (B) Chennai
(C) Mumbai (D) Cochin
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22.

22.

22,

22,

22.

femferfis imfy qrzes BT 9292 IR (NHAT 9 w1028 5o #[1 (@213 i =3 2
(A) T

B) TG TN GBI

(C) IWCSTY 9IF & A2

(D) efeT FIT JheS 2w

e S @ ARt qgR Tee el eRe (NHATD) @9 Fh5S WS (=
SyRfeee ?

(A) O™

(B) TGN BRI

(C) & TR TS T

(D) efewl FITR TSNS A=A

TETETE EHR S FUUTEHT NHAL BT 2ied 5/ W 8- Sirey ?

(A) T

(B) ugiferm dht

(C) U3 TR (Senior Citizens) T TS A

(D) T@TT Ao TE AU

frmferfaa § @ fha are 1 NHAI ST e & 5 ITH 8 2

(A) T

(B) ugiferam dht

(C) afs mTieent & fHsh amea

(D) T it o fst g

Which of the following vehicles is exempted from NHAI Fastag Tolls ?
(A) Ambulance

(B) Petroleum Tanker

(C) Private vehicles of Senior citizens

(D) Personal vehicle of Defence personnel

23.

SPT @ICH! S T I ARG I 5120 SES ?
(A)  @TEb (B) @2
(C) To& (D) =ie
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23. PTG 22 ST Foree i FRAEDR SREsS iR :
A) @b (B) w20
(C) To&%d (D) 4its
23. 3rEmty ffafes mem gms arsmemret 75, amr fRRer’ snaerg ?
(A) TETETE (B) SirEre
(C) WL (D) =i
23. 3TEH I TgaTl Y foruet amn et fema 2
&) TEEdH (B) igre d
(©) T (D) i ¥
23. The first modern theatre hall of Assam, the ‘Baan Theatre’ is located in
(A) Guwahati (B) Jorhat
(C) Tezpur (D) Nagaon
24. IS (T o7 el ST orgse ?
(&) Tl B) dferre
(C) il D) T
24. 10 SraErre (iR il wiEE S RPIcs SR ?
(A) IR (B) 3ferfea
(C) oPmifel D) IcEfEA
24, TEAM 9 B3 WAl SHNHEE § 7
(A)  HrTferan (B) sifeAferm
(C) a&t (D) et
24, Tr=faRea ® 9 & @1 ¢w gfaror smferT a8 2
(A) grerfer (B) et
(C) aErREn (D) hrsiifea
24. Which of the following countries is in South America ?
(A) Somalia (B) Bolivia
(C) Tasmania (D) Cambodia
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25. TS FATO! TN G HCHIETS FaIheTo! I8! ¥2 (2(%e ?
(A)  SPTREN ITHleT (B) IO oftel S[tHieTe
(C) oot fcarz (D) SIS SR
25. SRCSA FiATo! TRA (& SCHIEAE FIpeTo] IR *(27 AR ?
(A SpPrREN (B) ©Ig© RICTl
() R fear (D) 2 S
25. WA 3T AT SITAHTR 56 AIHTTERATITE heieheTd] Se3TRT ETN T ?
(A) THSTSEI (B) WA ATTRAT
(C) Torure femmrrr (D) 3RF ATy
25. YA o AT JGIeH § ohH TTGIel § shehaldl S&371 &G g8 off ?
(A)  FrEEAM (B) ¥ Bigl
(C) T fergre (D) = s
25. In which movement during India’s struggle for independence was Kanaklata
Barua martyred ?
(A) Non-Cooperation (B) Quit India
(C) Sepoy Mutiny (D) Civil Disobedience
26. 2N SO TRITHOE! (i ifeeT ?
(A) FF Dl (B) [ vReiR
(C) A=l IR ERIRIED
26. TT SO & TP IR ?
(A) P Bhee (B) & A7reiz
(C) A= (D) T syanfae
26. ITHMHUSHAE GEETT e YRark gei- gama ?
(A) T FTEe (B) fersmm wmvTs
(C) T o (D) Zf i
26. 3ITANE H AHAT Tge WA A & 2
(A) T TTEAl (B) fershm wmrums
(C) Tehw v (D) =i
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26. Who was the first Indian to go to space ?
(A) Kalpana Chawla (B) Vikram Sarabhai
(C) Rakesh Sharma (D) Yuri Gagarin
27.  SPT JIfET TRAZETII 'S LS ?
(&) g (B) =
(C) =lls (D) <=
27, SAPTIC e SRARIET (Pl S ?
(&) e B)
(C) weite (D) sz
27. 3THM SEERTN W&l Wﬁ\?{ (Assam State Museum) JMEEIC 7
(A) W (B) TETEE
(C) e (D) HIERT
27. 376 TSI LR el (6 @ ?
(A) mrgett (B) e
(C) i (D) =&
27. Where is the Assam State Museum located ?
(A) Majuli (B) Guwabhati
(C) Nagaon (D) Kohora
28. TS TFe1q (FIF SIS ST TR0 4! 5 rmories oy sire ez 2
&) PR zef (B) ©EG g <l
(C) Seefrer 713 (D) &Sl (s
28. T SRS W (& SPIR WG AR T9 TSGE 202 ?
A) T (B) &S Ta T
(C) Selrer (71 (D) Sr&sl Creal
28. TERITE BFRIM HR HTHAT STEMH AHUSAH e e digmT ?
(A) IS TSR (B) I Aol 9837
(C) s OREEIEE
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28. f=ferfiga o i 3w & Fafes e a=f € 2

(A) Y ST (B) 1 Hoel Sl
(C) TUTIST U (D) 3ASIAT 43T
28. Who amongst the following is a newly inducted Cabinet Minister of Assam ?
(A) Pizush Hazarika (B) Jayanta Malla Baruah
(C) Ranoj Pegu (D) Ajanta Neog

29. TIFG! TS T SITeS I8N (GRifons TP g e 2

(A 1991 (B) 1985
(C) 1980 (D) 1982
29. SRCS (I I AT T Betons PRl e Feafee ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
29. T EUTIIE GGRIA 3T THIAR oAl S’ Tl HIAHATE HIEESHGHH 7
(A 1991 (B) 1985
(C) 1980 (D) 1982
29. TG - RA H Ui SefifersH rishd T oy § I[& foha ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
29. In which year did Doordarshan start colour television programme in India ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982

30. TAIRR @ & Seofme AN 5 2

(CNIRERICEIEDH (B) WFFIES =N (A1 *7T
(C) &l (D) &5
30. TAIRR efopita anefas sTwat i 2
(A) e (B) &SR QMY
(C) Tl (D) &y
010
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30. I3 (Boeing) ST T fegremam ot ?
(A) Irgiies! (B) gfsmm 31meR
(©) o (D) e
30. SIS Ul <hT STTeIfeh IcaTg T R 2
(A) T e (B) AT % 3T
(©) D) T
30. What is the primary product of Boeing company ?
(A) Aircrafts (B) Breakfast cereals
(C) Shoes (D) Medicines
31. e s1za (PIeeh! (e w727 ?
@) o (B) ™
() wrfes (D) TS
31. I Teafrs (G (e omied o7 2
@) o (B) ™
(€) =ITaes D) e
31. TETETE ST Se= e 9T 7
A) fea (B) 9/t
(C) 3smnfea (D) &1 (Quartz)
31. TAfefiga @ @ =6 91 U a@ T2l 8 ?
@A) f (B) [
(C) IR (D) S
31. Which of the following is NOT an element ?
(A) Tin (B) Mercury
(C) Iodine (D) Quartz
32. Taferire FIupbmzs (FHGe 1 Jage 727 ?

(A) T (B) &'« Bz
(C) T Bfir (D) @O
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32. T SrEiie FITIQTER ) (@ Hbes 39 9% = w1 ?

A T (B) 1 Gfm

(C) TORE (Gfept (D) WIERF
32. TERMH 96 Tog3Td 96 (ball) STERAR ST ?

(A) TieH (B) @A dfd

(C) duaatE (D) e
32. TrferRaa & @ % a1 @t Tig 1 39T & HA1 B ?

(A) TeH (B) &=

(C) uwhE (D) Sefiea
32. Which one of the following sports does not use a ball ?

(A) Golf (B) Lawn Tennis

(C) Table Tennis (D) Badminton
33. &lfoqR(q (' W29 8 OIfRCe Wi (FeCh! e #ier < 27 ?

(&) ARG e (B) &if® o o

(C) wIfirs frepy (D) TTOFT 9% (OGS T
33. ICy Sealrer M (@i &lfio 9931 8 T TrEiel a1 23 2

(A) AR =T (B) SN [eidl ot

(C) ifi=s ey (D) TTC T 4R TG TS
33. TEMH So@! SHGhHE! 3T § SHH 8 3@ Bl Sl ?

(A) ATEEET HH (B) UG EEAHR GH

(C) wHrerEmH &M (D) e o A Te fondid M
33. Trferfad # @ &= a1 foaw gL ater 8 6E =l T ST 2 2

(A) IR feaE (B) dae, e feaw

(C) ot feerm (D) TSHid R TS Fortie feam
33. Which of the following is celebrated on May 8 every year ?

(A) Environment Day (B) No Tobacco Day

(C) Labour Day (D) Red Cross and Red Crescent Day
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34. 1994 TS bIFIR! CT! 4G - FHNCHCR 61 I @mi= 41 (2fwe ?
(A) SRR EEEE B) B.g7. o=
(C) T. fFae @@t D) oS . @2
34. 1994 e T G RSIO F AR TOITET FRI 7S 2R 2
(A) TR SRS B) B.99. eGP
(C) .53 @MW D) oS . @2
34, 3. 1994 HEYUT 37E R A FL@TN ARG ATGISTE T T4 TG 8™ STRHM ?
(A)  3ITfer< ShaiaTe (B) .U, A
(C) . fFm s (D) To=m= €.
34. foheg TURI HaT <l JUft § 1994 H T WH YU & FeATa fehdlt 2T o 2
(A) 3l sherliemel (B) &.w. A
(C) e frm ad (D) Team= €. gegE
34. Who was awarded the Ramon Magsaysay Award in 1994 in the category of
Government Service ?
(A) Arvind Kejriwal (B) T.N. Seshan
(C) Dr. Kiran Bedi (D) Chintaman D. Deshmukh
35. fTafeTiIe ST2q (I ©leq B! FlaT T ?
A) ©=9 (B) iz
(C) wifeg (D) 2720 -IA
35. T TrEfe @ SRS &2 Flay Toierz ?
A) ©=g B) @iz
(C) =feg (D) M —1A
35. TR So 1 YRAH R gHm T8 ?
(A) HTEHT (B) Ufeoft
(C) sEwg (D) 3 — 33T (INSAT - IA)
35. Frferfad i & FH ST P TR FEW I o7 2
(A) HTEHT (B) Ufgoft
(C) g (D) 392 - 3TE.T. (INSAT - IA)
35. Which of the following was the first artificial satellite of India ?
(A) Bhaskara (B) Rohini
(C) Aryabhatta (D) INSAT-IA
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36. o IS AM “BRAI” T & R 0T, (OB (D€ (FIT (T S0= ?
(A) T (B) 2w
(C) eI (D) Sl
36. I NG I BRI M @I IR O G12 HTG I (0 SC=e 2
(A) T (B) s
(C) i D) [l<ETT™
36. SIf¢ T8 3T “TeR1” AT & ¢ WIETET, 76T o F3TT §al FTE THM 2
(A) U (B) difehe
(C) sheitfeam (D) srerTem
36. 3fc I AP “Creh” H e HdT &, a1 SAh FhH A HE ?
(A) AUt (B) uiferd™
(C) wwitfen (D) ST
36. If a person is transacting in “T'aka”, which country the person is in ?
(A) Nepal (B) Pakistan
(C) Cambodia (D) Bangladesh
37. T (0o Sece 182 1 (4 9@ifey a2
(&) TS (B) !
(C) SrRFallferE (D) aifen
37. T (74 SIFTS AT @1 2R IRy 57 2
A) T (B) Wl
(C) SFAIIfeSIe (D) i
37. YRA afge Fife & eurrean gred ganan ¢
A = (B) wfeent
(C) AHMRA™ (D) &9
37. WA % e € =1 go@ sg1 fraafds qor s an g ?
A) T (B) wfererent
(C) AHMIF™ D) &=
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37. Which country is the biggest exporter of asafoetida (hing) to India ?
(A) Spain (B) Mexico
(C) Afghanistan (D) Russia

38. OITOq (@I ST G (BT (=02 “oI"T7 o T TG ?

@) o (B) = o TS
(C) ez (D) eI
38. RIGACHIE SIRUSH (I ey “oIe™ e FIG” G GG TR ¢ ?
Q) 45T (B) oY @R IO
(C) dreE (D) R
38. “mffeamiaf amE™ wRaf 99 TgS HTTET 31 W “med 3H HiE” ?
(A) HleH (B) T 3T HRHR
(C) TSI (D) T
38. “MgH 37H ST YN o oh T & e &t TTeTsa 8 ?
(A) HARCH (B) < 3R HTHR
(C) TSI (D) A
38. “God’s Own Country” is the tagline for tourism of which state of India ?
(A) Karnataka (B) Jammu and Kashmir
(C) Rajasthan (D) Kerala

39. <= 2B A[feTb GFICT <= T ST LS ?

(A) P (B) TR

(C) S=FellbeT &It (D) wfeIsjq
39. Texed offe GPICTR (T FNTey HAES ?

(A) PN (B) TR

(C) SPeIDeT &It (D) w57
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39. HI-TATN YfTd TS o« Tgs AE g 7
(A) ™ (B) HawH™
(C) STVt e (D) =g
39. IR Y gieT™ 3TehieH! fopd T H a8 2
(A) rEH (B) HET™
(C) ISt 16Tl (D) =T
39. Which state is the North Eastern Police Academy located in ?
(A) Assam (B) Meghalaya
(C) Arunachal Pradesh (D) Manipur
40, IITTF TAGICSR! 9@ ioE ST Fo1 4o WIS ' SES |
(A) SRS B) =
(C) b (D) SRR
40. FITTIF PARCH Q<R Tore] SRR Rler eI (e o[iEs ?
(A) T (B) =R
(C) A (D) izl
40. Trr-feu@em™@ (Counter-Insurgency) I WM TRem e@sl (Jungle Warfare)
FRETA 3T TR o8 ST § 7
(A) FEIEA (B) wmeis
(C) sfay (D) S
40. o @ Counter-Insurgency and Jungle Warfare School %&l W ferd g 7
(A) s (B) e
(©) wfea (D) ¥
40. Counter-Insurgency and Jungle Warfare School is located in Mizoram at

(A) Aizawl (B) Lunglel
(C) Serchhip (D) Vairengte
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41. =R TEE SERY AR SR
(A) T2 SIS G Tyl (B) e Mg Swyiw
(C) =Irwe! AIB vl (D) 'IJEF G T
41. % ereifor afde olel A :
(A) T2 S AGR Tyl (B) Fifeaie A8 Twiw
(C) <M A S (D) TFEE AR Tl
41, TS AR G §&AAT ?
(A)  HIFA AT FIERR TATH (B) HINST BRI STTH
(C) HTHEwT BIGNIN STH (D) Tehish BIEIIR ST
41, G A I3 fhew U ST | 7
(A) hIS A3 TE FEH (B) IS U 3aH
(C) HTHEH UEH 3T (D) ehish TP I
41. The animal Sangai is found in
(A) Keibul Lamjao National Park (B) Kaziranga National Park
(C) Namdapha National Park (D) Nokrek National Park
42. Z[THER TR ACE I 2WBIF AW 27 41 & FIF 18 Teiers, 22561 616 @i
SR I 1S Ffafee ?
(A) e @ 9 (B) I ST
(©) R et (D) Tz G
42. 2 AT JFFIF LGB (T S SHK AN /Do 22671 71 IR ?
A) S R = (B) VR AR
(C) et el (D) wAIfES G
42. gIfeeTer g @A TR 9™ @R geEt fgeeft (Whitley) ST W1 I 36T

TS 7 STeHH ?
(A) fetar et s (B) SfTed UrRIT
(C) oo T (D) ufea <tegd
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42. T TSI Wit h! &I o TATHI & o7 ggeet! TahR, & 19 37wt & &9 # off S0
ST 7, fope St 2
(A) ot gelt s (B) red e
(C) forearem Tem (D) Ufea =ted

42. Who won the Whitley Award, also known as the Green Oscar for the efforts
in protecting the Greater Adjutant Stork ?

(A) Purnima Devi Barman (B) Jadav Payeng
(C) Birubala Rabha (D) Rohit Choudhury

43. T ST iz @ife s 2o I TS SR T (2% |

(A) =M 21 (a) (B) Syejto=n 25
(C) =M 18 (D) SRT 23
43. PreR Sl i (e Sl fRETE @in (iRl Sfie &aie =a@fRs ?
(A) €21 (a) (B) 44125
(C) =118 (D) =T 23
43. & @i fagra Aty Aremse i deurg vet SiEE S ?
(A) @I 21 () (B) @1 25
(C) @18 (D) @123
43. Tifersh TR o &9 ¥ e o1 AR < dga sttafafia forem mm o |
(A) IT=E 21(a) (B) 31q=se 25
(C) 3g=e 18 (D) 3rg=ee 23
43. The Right to Education Act as a Fundamental Right was enacted under
(A) Article 21 (a) (B) Article 25
(C) Article 18 (D) Article 23

44. FTFI TTFR BT I ICPTSIS QS T31 INifReT ?

A) I (B) @3
(C) =R CHf (D) =
44. JLER F14F Bl DT AT Ta! R 2
A) I (B) @3
(C) Tmey (T (D) i
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44, Tt foRfi TR 31 99 TSsTEEH wiRmE ?
(A) 3R (B) ¥HIT
(C) =3 (D) fargEm
44, 3TN h TG AV Tohd TS o Q@R H 7oAl & 2
(A) 3R (B) @HsTH
(C) == i (D) forgam
44. Chanakya, the author of Arthashastra was a minister in the court of :
(A) Ashoka (B) Samudragupta
(C) Chandragupta Maurya (D) Bindusara
45. e (P RIS SSAAIE T2 wW-1- (GI9eTe Jreng FieT SRS guel Fifeet ?
@A) wifEEe (B) f2ewe-5R
(C) STFI-Tl Il (D) 2GS
45. 0 SERerE T ¢ T2 [ QR peSiEl cfREes Rend eie @9
TR ?
(A wI-fegm (B) fREE MY
(©) I i oI (D) TGSl
45. YT foF et GUTSH THIE SR HEHITET WRA 376 SraeT™ HamH ?
(A) ®EH (B) = c@m
(C) =t € (D) 1
45. fr=fafea & 9 ®F gewe foq qeis & TS & SR 9IRd Sl I S Il Th
3T T ?
(&) R (B) =& Em
(C) =R & T (D) ¥t =
45. Who amongst the following was an explorer to visit India during the reign of

Muhammad bin Tughlaq ?
(A) Fahien (B) Hieun Tsang
(C) Vasco da Gama (D) Ibn Battuta
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46. T TS AT S A2 I TR TZ! Gl 2

(A) JECSIR I (B) TSI SIgeT BleTs e
(C) 5. Ir&MTsi=ArETE_t (D) R.o=. S

46. FF SECS (F &9 W2 8 61 o1 137 foeer ?
(A) TEFOSIR BT (B) TSI SIgeT BleTs e
(C) 5. Armcali=eroiat (D) R, e

46. 3ty wrat Mfafi smem o =m af e @ 2
(A) TEAHHTS TS (B) WM 3T HeA™ TG
(C) 4. TIMITATIT (D) fe.3mR. 3meEa

46. TG WRA o Ug I R =R Tl bl & 2
(A) TEAHHTS T (B) HITHT 3G Heold TG
(C) . TS (D) 1.7, gt

46. Who is the first Law and Justice Minister of Independent India ?
(A) Vallabhbhai Patel (B) Maulana Abul Kalam Azad
(C) C. Rajagopalachari (D) B.R. Ambedkar

47. T AR R 72 o ST fon 01, G182 74 O G20

(&) AREEE S SRealifeEe (B) T T OO

(C) “Ig© ¥ g=m™ (D) ©IF© i< QIR
47. TR B (I g% R Wy AR el weac ?

(A) BT @R Spsifegia (B) IR @R OIS

(C) SiFe qRI (D) SRS 3R IR
47. TS G@HAT Gl Srgra e |

(A) UTREI TR SAHTE (B) UTfh& 3TRI YRA

(C) W 3T s (D) WA A SIS
47. W@ & &9 fowfad Her s 2 |

(A) IR 3TR THITET (B) UTfhEd 3R WA

(C) W 3T =t (D) WA 3R St
47. The Durand Line forms the dividing border between

(A) Pakistan and Afghanistan (B) Pakistan and India

(C) India and Burma (Myanmar) (D) India and Bangladesh

[
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48. SR Gl 69 AT TG SR Fo3e FITIb (e 2'F, (372 I6ICHI G2z

(A) TING F (B) TS i+
(C) Tt e (D) =9I GRe
48. SRS STOR SWsFe Lo LRS! 6 “FRIE Sy (T 2 -
A) T (B) Ao
(C) w&l G (D) 215
48. T 39 TG ISR -HUFHTA Head gAHE! T IhIT UG el ?
A) FEHM (B) grdl M
(C) Teefta gl (D) ST g
48. WA ¥ TP 3-Thel eaiel gAhe ferdeh fodl @ Jrar ® 7
A) weH (B) o[t Y
(C) Taefa gib (D) 3 2T
48. The National Inter-School football tournament in India is played for
(A) Durand Cup (B) Subroto Cup
(C) Duleep Trophy (D) Irani Trophy

49. 1926 5T Z/%« 91 ST HELLN (RGNS %7 R 2R :
(A) P @IETS Geos @& RINGe
(B) W CMRIG! @& FHGY
(C) =PI &l M @3
(D) IR AR @R
49. 1926 TSP 212 @ @RI FRIH B 2@hee -
(A)  SPT @I-SAIERGS GUei i IRGe
(B) &A= Tk s
(C) =T &l KMl 71
(D) =T sl kT
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49. 3. 1926 HISAR 3G THEA TR M fifafaa sowatit s ganan ¢
(A) M HI-3Tfed ey e fafice (B) ¢ Tigrel o fafies
(C) 31 UTH{vT foremTd Sk (D) <AfgH} et S
49. 1926 T TIfid 37EH 1 Tgel st S A AR ?
(A) 3TEH Hi- TR ey s fafies (B) T AR d% fofade
(C) 31w Tmfivr fersprer Sih (D) <ARgHY Mo sh
49. The first private bank of Assam set up in the year 1926 was
(A) Assam Co-operative Apex Bank Limited
(B) The Gauhati Bank Limited
(C) Assam Gramin Vikash Bank
(D) Lakhimi Gaonlia Bank

50. NITI SIS AT G S_IP GFI ?2

(A) SIS TTE (B) ©eq Kewa!
(C) SReF fers @& e+fa (D) SRS 52T
50. IS SRR TSRS 27 (& S=Z I T 2
(A) SRS &HTIE (B) ©RTeA Kewal
(C) SIRred RS e sTew (D) SRCSR =Hal
50. NITT 3TRIRTH THIGRTRET TR = ?
(A) WTAf TITETE AR (B) wraty gl ufx
(C) TR, T sep 319 sfea (D) vraF Te afy
50. fifa 3 o 37ere7 1 g foheeh U T B 2
(A) R o JEHAT (B) e % o w:ft
(C) YT TioTdl sieh o TTa (D) ¥R % g HAt
50. Who holds the position of the Chairman of NITT Aayog ?
(A) Prime Minister of India (B) Finance Minister of India

(C) Governor, Reserve Bank of India (D) Home Minister of India

[EE
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51. OITOS (T 2P SlTod STl 1 B ?

(A)  efsHEETs oo (B) F1gfs oIog
(C) M olTog (D) SIRHALAZLTF 51TSF
51. SRS SlTeCEe (I el Seprel T4l 27 ?
@) efeffegere Te (B) g oiereg
(C) M olTog (D) SIRHALAZLTS 51TSF
51. 99 YGUTEE! HHATE THRAR 1Sl 7
(A) T 3R g (B) e s g
(C) waR gIGUTS (D) =TemT 3R geguTs
51. WA H fohd TehR o Ahasl b1 STTERUT fehall ST 8 2
(A) afafferes Aeaa (B) Tmufe wiehas
(C) EdH Sl (D) @EuTH SAreh
51. Which form of Democracy is followed in India ?
(A) Representative Democracy (B) Presidential Democracy
(C) Parliamentary Democracy (D) Participatory Democracy

52. JIRECTS 540 MG (WS @RI Plee I 971 ¢TI0 Sl A7 2

@A) e (B) =&
(C) = (D) foar

52. TG % A AR 0 NS 2SR *F A &l IR 2
Q) IS (B) =ifer
(C) = (D) PRR

52. Hc] GYL CHIT SFATCST 3TE T CHISH TS T 318 A1 G s ?
CNIRSIIES] (B) gt
(C) w=m (D)

52. ditettes 8 1 et & e % wTe S ¢ b fohm T A T I R 2
CNIRSIIES] (B) et
(C) wm (D) e
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52. By which name is the river Brahmaputra known after it joins the river
Ganga in Bangladesh ?
(A) Lohit (B) Hooghly
(C) Padma (D) Siang
53. 51 T A7 77 S AN W7 (HIC! 5139 (O e (Jfetl = -
(A) IR (B) Twel
(C) it D) f
53. SIRE RO (T 73 G3R “IfRow e “Ifsiis) 1 Q@ (P ZICTR (I 78 29 2
(A) STEIN (B) Tl
(C) @R (D) ergel
53. e FIerT (Prime Meridian) b STafta STm qred STRATITAH |s-8TE fomame
S S T AT A
(A)  HATHH (B) i3
(©) FfemTEH D) Uffere
53. rew Hftfeam @ qel TR ufvem ot 3T AT 78 ferel T shl hivft gl 1 a1 ST @ -
(A) 3w (B) S
(C) < (D) 3™
53. The angular distance of any place from the Prime Meridian measured
towards East and West 1s called
(A) Latitude (B) Altitude
(C) Longitude (D) Amplitude
54. FRRINS JAPTIRI ! I Wats Jfers! (A=l =13 ?
(A) 2TGFFEIE Al (B) < oo
(C) o FE: Ay (D) 1 FraE ;2=
54. oIC SCaReE W (B (el 5 iR 7 2
(A) DIHER ;& (B) INFEIE : AR
(C) 9ol : Ay (D) 12’ Ferara oW
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54. TR & T TSR 716 ST ?
(A) ETEGIERI ;g (B) IR : ST
(C) TeHITERIT : SR (D) forenfemm : &
54. Treferfiga o & =l o1 gm o gafaa & 2 2
(A) EESIERI : St (B) STITER ; e
(C) TeHifeRR : a1y (D) T : vt
54. Which of the following pairs is NOT correctly matched ?
(A) Hydrosphere : Water (B) Biosphere : Environment
(C) Atmosphere : Air (D) Lithosphere : Land
55. TAIN AREIbS (21 w1t (22
(A) T2PIR (B) TFgl
(C) T *[e D) TS SEe]
55. N2 2T :
@) HE (B) Tg
(C) TgoRe ORKSEED
55. FAIHAT 39 "EfEl |
NIRRT (B) TR
(C) TS roTHT (D) T BT
55. &l g I &
(A) HEER (B) e
(C) 3= vdd (D) =1 ST
55. Tsunamis are caused in the
(A) Oceans (B) Deserts
(C) High mountains (D) Deep forests
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56. SO TRYI B RS ! *135 ARE 712 2

(A) TR (B) TOWICEFGH
(C) FoiEe (D) w=IfbEfE
56. fICx Srafre @R *=f SIS MR 2RI T2 2
A)  ffReers (B) afriiEs
C) @ (D) HEelfEF
56. TEMM §¢ HIGEST HRATR HfSTar T SIeTTe = 961 ?
(A) <ERW g (B) ¥y guUm
©) Ju= (D) THTSRETRRTR
56. Tr=ferRaa @ @ = @1 visg wRd & \fqy™ H TeETT H T8 R 2
(A)  arfue (B) <Ahaiteh
(C) =l (D) FHISEE

56. Which of the following words does not appear in the preamble of the
Constitution of India ?

(A) Secular (B) Democratic
(C) Federal (D) Socialist

57. JUIFEIA S TAF VLIRS %71 @TH] (20 :

(A) =iz foees (B) fferm @it
(C) TAfR: oeew (D) IS e

57. @lSIRICER Ju RG] 7ICel TR 29T
(A) 112D *I@hs (B) faferw oimfts
(C) IRfR “Taie (D) IS &S

57. TIGI @R TR qoll SHETGH BIATH GRIE! A1 g1 ?
(A) TS @I (B) YaTSI A Fe’ @I
(C) TR @ (D) Td @

57. FHMI % TEH-YeH sl T Wl (51 % o1 SAR) 61 el ST @ -
(A) TS ST (B) forfmm worreft
(C) SferT gomett (D) TId YTt
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57. The ancient tradition of exchanging goods for goods (trade without currency)
is :
(A) Paik System (B) Barter System
(C) Banking System (D) Rayat System
58. “ARI-MM-F AN &S WG AKFITS (i TS A 53 27 2
(A) M9 (B) Sl
(€) fzm (D) Sft
58. e Ay “Tie N T SRS (i A0S IR el 23 2
(A) &R (B) Iz
©) frzm (D) T
58. [T ST 9H1G “T S <1 @ SUEET 56 TSl 3776 qi-al ?
(A) S (B) TR
(©) fezm (D). sfifeam
58. Tflg HIeH “grel STl TRET” TR W fohe T3 H wliEr Siar @ 2
&) (B) TSI
(C) foer (D) e
58. The famous dish “Dal Baati Churma” is typically served in the state of :
(A) Punjab (B) Rajasthan
(C) Bihar (D) Odisha
59. TICERI SRevd 87 IS 25l &l 5 it & [ 2
&) wrfSEE B) e
(€) TR (D) s
59. IS AR (IR G 1 &A1 R -
(A) SRS (B) Jiffrerrz
(C) TR D) zfrerm=
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59. WHER fHHE T JTR®RE! 91 g1 7
(A) nfeErd (B) wifHar™
(C) HfEa (D) gfear
59. & Uil 1 WM aTel S W Ed & —
(A) e (B) wiitaE
(C) st (D) BfearE
59. Animals that feed on green plants are known as
(A) Omnivorous (B) Carnivorous
(C) Cannibals (D) Herbivorous
60. TROR FRYMT (PIFY SPIOe TEI-77 TOS “[R[q & QSR SR A FRY
HIFeTS Y (=R 2
(A) TV P (B) ~=e Spyol
(C) =B ST (D) < P!
60. SIS U (I TS T[4 RS ARG @ TAGTSH ST &) HAeH1Pre
XTI &S a1 2MRe ?
(A) TV P (B) ==& ool
(C) B S (D) <SPt
60. WRATR HifTaf s9 BIET T-THs1 YRAH g 3T Zeeel 3-ETe BIRAT TRy, G
faenfaet @mfs g ¢
A) @rfg (B) @i«
(©) wifaerEd (D) @7
60. R HfaYH i fohd STEEN | qaR WRA o TaTel 3R TCaTH! &1 < ol T Jemed
EARICRIERER R DI
(A) B I (B) il argesh
(C) o srgeeh (D) =eff SrgEet
60. Which schedule of the Indian Constitution has made provisions for

autonomous administration for hills and tribal regions of North East India ?
(A) Sixth Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Ninth Schedule
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61. zriﬁ% + (—1%) —x+ 1%2{[, (O x—J T P 27 2
A 2 B) 1
€ -1 D) -2
61. zﬂ%% + (—1%) =x+ %iﬁwmawwm?
A 2 B) 1
€ -1 D) -2
61. —gﬁ% + (—1%) =x+ 1%,34s—vnxﬁm=r3ﬂmwﬁ=r ?
A 2 (B) 1
© -1 (D) -2
61. 3fe % +(‘%j:x+ 1%,?ﬁx?ﬂmwgﬁm‘>
A 2 (B) 1
© -1 D) -2
61. If % + (—%) =x+ 1% , then what will be the value of x ?
A 2 (B) 1
€ -1 D) -2
62. 7 .M. IPEGT 9OI Ie7 “ARPINE aF @Bl I19(THFG 5107 IR 929 41 27 |
JoACFQUOIR AT (S 23 - ([ &=, n=2_72)
A 7M. (B) 117.f.
(C) 15 M. (D) 227.f.
SPACE FOR ROUGH WORK
IOk 10}
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62. 7 cm IPIET G0 Joed AR AT @ 39 9107 1 2971 | 557 Jied Tio
GEEE
A 7M. (B) 11 @11
(C) 15 @R D) 22 1.
62. 7 8.fa. FEE THI Y SEAM 9@ g@N 7Y TRl SRS | § S SAErIH
ARG g ? (n = %w)
A) 73 (B) 119.fm.
() 154.fa. (D) 224.f4.
62. 7 Tt oA ATt Ue o 1 AR S TS 1 ST Teh 1 ST o oG, fohal ST & | &
61 S H TS S ¢ (n =2_72F\i 1)
A) 78 (B) 11 et
(C) 15 (D) 224
62. The circumferential length of a circle of radius 7 cm is used to construct a
square. The length of the side of the square is : (Take © = %.)
(A) 7cem (B) 11cm
(C) 15cm D) 22cm
63. TIIC 75! AT LA Q. IF 31.57.%. AT 25 |F 2573 | I ARAMGE @i 27 27 |

ISR RIEEE

A) 2373 (B) 2572
(C) 2273 (D) 2372
SPACE FOR ROUGH WORK
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63.

63.

63.

63.

v3(b TR 919, @R TG, T 25 3R 25 - 73 | AWM 267 Iy G0 72 27 W O@
o= :

A) 2373 (B) 2572

(C) 2273 (D) 2372

A 3R ¢.3m.Er. (HCF) 31 g.37.41. (LCM) 31 %I e 25 31/ 2573 | o
T SARNHTH T8 Sf¢ 27 SR, 3Teal e HIFMEsT |7 ?

(A) 2373 (B) 2572

(C) 2273 (D) 2372

3 T3 %1 HCF 31 LCM shaw: 25 31 2573 % | Ife &1 gesti § & ueh aen 27 8,
e

(A) 2373 (B) 2572

(C) 2273 (D) 2372

The HCF and LCM of two numbers are 2% and 2573 respectively. If one of the
two numbers is 27, then the other number is

A 237 (B) 2572
(C) 2273 (D) 2372

64. AMA[1296 = x2, OB x IAF 2 :
A) 5 (B) 6
© 7 D) 8
64. TMM[1296 = 2% T O x 4 T 2 :
@ 5 B) 6
© 7 D) 8
SPACE FOR ROUGH WORK
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64. Tfe~[1296 = x2, x T1wm 3w ?
A 5 B) 6
© 7 D) 8
64. ﬁ\/m:xz,?ﬁxaﬂm@m:
A) 5 (B) 6
©) 7 D) 8
64. If+/1296 = x2, then the value of x will be :
4 5 B) 6
© 7 D) 8
65. RIS @I @ WA T 800 € T I S ANANG Gemcs [few et Ace wreq
“ffeIel Rt 20% 9 5T =21 | AETRE [y e
(A) %1300 (B) 1200
(C) 1100 (D) 1000
65. ffers b W& ¥ 800 il Iy T 7 Ky o1 fehers 20% =1re @ [ 3
et | Ao e 3o 2
(A) %1300 B) 1200
(C) 1100 (D) %1000
65. fafSia 31 98 gam@t 3 800 3E SR 3T b SEt SRS S BEIGAT Sard fafd
QHRAETRT ST AR S 20% SR | s G SR S8q1 59 2
(A) %1300 (B) %1200
(C) T 1100 (D) %1000
65. ToTd = Teh a%g %I ¥ 800 H BT 3R 37 I%] I 38 ThR o1 Toh TTH I8eh ToIshd ool

20% B | 9%g 1 fIsha e &

(A) %1300 (B) %1200
(C) %1100 (D) % 1000
SPACE FOR ROUGH WORK
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65.

Bijit purchased an article for ¥ 800 and sold the article such that the gain is
the 20% of its selling price. The selling price of the article is :

(A) %1300 (B) %1200
(C) 1100 (D) % 1000

66.

66.

66.

66.

66.

0.5 FL.R. @@ Fl9e@ A6 9= @IS 9 ©fe I 1.28 .M. IFT 95! fegs Da
TR 2T F 23 | G2ERGS PloTeers Wl Jo Sred A1 T2

4) 12 (B) 10

€ 8 D) 7

0.5 mm “F G306 TS 7P IAAR OIS FE 1.28 cm A GHb TP 79 F1 27 |
SIS ST A

(A) 12 (B) 10

(C) 8 D) 7

0.5 Ti.fir. TSI 1T 7T S fereTTs it 1ot et 9T 1.28 .18, 3T 7M1 Wi Tgult 317g
G S1G1 | TGE! 3ATY WA Eed SR THI § 7

(A) 12 (B) 10

(C) 8 D) 7

0.5 Ti.1f. <Y WerE o SIS Sl Teh 3T B TR-R AIST AT 2 dTfeh AR 1.28 Tifi & Th
B¢ ! W fear S geh | ficrael it sTavas aE |

(A) 12 (B) 10

(C) 8 D) 7

A sheet of paper of thickness of 0.5 mm is repeatedly folded to fill up a gap of
size 1.28 cm. The required number of folds is :

A 12 (B) 10
C) 8 D) 7
SPACE FOR ROUGH WORK
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67.

67.

67.

67.

67.

<51 =TS %] A9 15 .M. =i Fifer 150 .02 | 3 Fet Fea e Simect Fife
1%@%{%@@,@@@@@@%??
(A) 50 @M. B) 60 G.f.

(C) 70 .1 (D) 80 . 1.

G0 STSCEHCEA T4 15 cm G (F@TT 150 em? | T SRS ) 2P FE
SR FIfeT SARF EFaT (A %ma%wmwa@ﬁ%ﬁmm:

(A) 50 cm (B) 60 cm

(€ 70cm (D) 80 cm

o8 TEAH e 15 8.4, 30 9 geemsfrn 150 @.f1.)2 | e 9 amaesat
SR A csemer T3 csmefiigs 15 T AW, M WEieEE s d
Temmn s&e1 Se 7

A) 50%.fa. (B) 60%.fa.

(C) 70%.fa. (D) 804.f.

Tsh I 6l oarg 15 At 3 &bt 150 it aeft B | fe &bt 1 et T TS
TR e &R %gmaaﬁmm,aﬁmtrﬁm‘aﬁm:
(A) 50 (B) 60 &t
(C) 70 & (D) 80 T
A rectangle has 15 cm as its length and 150 cm? as its area. If the area is

increased to 1 3 times the original area by increasing its length only, the new

perimeter will be

(A) 50cm (B) 60 cm
(C) 70 cm (D) 80 cm
SPACE FOR ROUGH WORK
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68. fafeTIe ST=g (I =R T2 MM 42 — x — 2 T GBI TLAW ?

@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
68. TTAfETS MG I2om AR 42 — x — 2 97 TAM ?
@A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
68. TERTH g8 x2 — x — 2 Toeremer afe aeemefi (factor) ?
A) x-4) (B) (x+5)
©€) -2 D) (x+4)
68. TfcTiad o ¥ 959G 42 — x — 2 1 Th UGS HH A1 & ?
A) x-4) (B) (x+5)
©€) x-2) D) (x+4)
68. Which of the following is a factor of the polynomial x> - x — 2 ?
A x-4 B) (x+5)
©€) x-2) (D) (x+4)

69. 7,12,5,1,4,2,1,12,17, 16, 1, 5, 8 *{2=T0E IT (2R

A) 7 B) 4
© 8 D) 5
69. IR T

7,12,5,1,4,2,1,12, 17,16, 1, 5, 8

GEIRIVN
@ 7 B) 4
© 8 D) 5

SPACE FOR ROUGH WORK
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69. RS BT BT ToRY At fogT ¢
7,12,5,1,4,2,1, 12,17, 16, 1, 5, 8
@A 7 B) 4
©) 8 D) 5
69. @ 7,12,5,1,4,2,1,12,17,16,1,5, SHI AT :
A 7 B) 4
©€) 8 D) 5
69. The mean of the data series
7,12,5,1,4,2,1, 12,17, 16, 1, 5, 8
@A 7 B) 4
©€) 8 D) 5
70. 0.003 + ? = 0.3 FAFIENGR @IS 5F (2) F efeRf*re Fa1 AR 2= :
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
70. AP 0.003 + ? = 0.3 9 SRS 2@ (?) BB 2 @ Al o -
(A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001

70.

MR TS 36 AT FiAR S RAT @ 71 SHSTST Sl grme ?
0.003 +?=0.3

(&) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
70. THRWT 0.003 + ? = 0.3 T Y¥aT=eh % (?) o1 Ufaeenfud i arelt T 2
(A) 0.01 (B) 1.0
(C) 0.0001 (D) 0.001
SPACE FOR ROUGH WORK
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70. The number that replaces the question mark (?) in the equation 0.003 + ? = 0.3,

1S
(A) 0.01
(C) 0.0001

(B) 1.0
(D) 0.001

71. TS ©aies =S (I SBRSCF Tles ?

11 12 13 14
12°13°14° 15
14
A) 15

12
© 713

71. TS SaAeeleR W @It 326 ?

11 12 13 14
12°13°14° 15
14
@ 1z
12
© 1

71. TERETE EHEHRE To{e §6 SEme Qa1 U ?

(B)

D)

(B)

D)

13

11
12

13
14

11
12

1112 13 14

12°13°14° 15

@ 1z ® 1

© 12 ®) 15
SPACE FOR ROUGH WORK
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71. fafaRga 4 @ =0 @ fim weg w918 ?

11 12 13 14
12°13°14° 15
14 13
A 13 B 11
12 11
© 13 D 75
71. Which of the following fractions is the largest ?
11 12 13 14
12°13°14° 15
14 13
A) 15 (B) 14
12 11
© 73 D) 79
72. 1.5 CFEQ I >t s qwier 7.5 &N A 2] 2
(A) 0.25% B) 0.3%
(C) 0.5% D) 0.75%
72. 1.5 (FEF T© *ORA 7.5 AN ?
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
72. 1.5 %.559.77 9 SiEi=er 311 7.5 ™ SIE 2
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
72. 1.5 forcl o1 fepaan ufererd 7.5 o 8 2
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
SPACE FOR ROUGH WORK
0100
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72. What percentage of 1.5 kg is 7.5 gm ?
(A) 0.25% B) 0.3%
(C) 0.5% (D) 0.75%
a 8 6a + 2b
73. ?rﬁ‘rb—Giﬁ,c_c@\o e op 3 T
@A) 5 B 3
© 2 D) 1
a_ 8 6a +2b _
73. =T, SONCERICE
@ 5 B) 3
© 2 D) 1
a 8 6a + 2b .
73. 3 L=%" op T 371 S ?
@ 5 B) 3
© 2 M) 1
a 8 6a + 2b
78. A =, A gy FIAME:
@ 5 B) 3
€ 2 D) 1
8 6a + 2b
73. If %= 6> then the value of h 1S :
A 5 (B) 3
© 2 D) 1
SPACE FOR ROUGH WORK
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74.

74.

74.

74.

74.

S 2 6.0, /951 (@91 199 741 Fieitst TR N Ford o |l 3 6.1, /<51 ([97S 7o Tefw
w2 | S2-A2 A 2fFce I (S67 5 T TRT ARG 2, (S08 (967 19 7[l
T T8 (R

A) 4R=.M. B) 5.0

(C) 6F.[. D) 7.1

I O T (AP O il &ife T 2 6.7, wook 0o I7 @R &ife T 3 ..
OOl 0 7 W7 | I R @G TS F0e O 5 91 T w08 ©E ACEHES
REIEERCE R E R

A 48 (B) 5 .M.
(C) 6R=.f. D) 7M.

TR 3 AfwE weaiaitm 2 fefyaer 7 mafy S (Speed) utEl AW
3 fop.fuamerfa Tafy S e | o Ife T gEErEERETE 5 uwr e, faf
HUZETAST 7 b/ 58 Mo 7

A) 4 fs.f. (B) 5 f%.fm.
(C) 6fs.fu. (D) 7 f&.fu.

T 319 o) @ 2 foprfi/erer <6t wifa & 3= feremer= Siran 2 3i 3 feptfi/eer it nifq @ etean 2 |
e o8 g0 AT H 5 = oA &, Al 3Heh framerd 3R 37 e A= hi gl 2 -

NIRE T (B) 5 ferrft
(C) 6 Torrfl (D) 7 fereft

Rajen goes to his school from his house at a speed of 2 km/hour and returns
at a speed of 3 km/hour. If he takes 5 hours in the entire journey, the
distance between his school and his house is :

(A) 4km B) 5km
(C) 6km M) 7km
SPACE FOR ROUGH WORK
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75. 9Ol qepa o I (R 96 T6.M.2 | NG SR 27 :
A) s1w.f3 B) 27w.M3
(C) 36w.f[.3 (D) 64 .[.3
75. G TICHCET TG P 96 T2 | T{Cwa oF Toead
A) s1wif3 B) 27 7f3
(C) 363 (D) 6471R3
75. T8 e i ferg st wnfer s e 96 (3.M.)2 | & A @i 31 Sl S 2
A) 81%.fa.3 B) 279.f5.3
(C) 36u.fa3 (D) 643.fu.3
75. T T 1 Bl 81 &ha 96 HHI2 B | T I AT &
(A) 81 &P (B) 27 &
(C) 36w (D) 64 i
75. The total surface area of a cube is 96 cm2. The volume of the cube is :
(A) 81 cm3 (B) 27 cm3
(C) 36 cm3 (D) 64 cm?
76. THICI H5! €I FPT SLATS 2 2 3 | TGO T SIS (202 :
A) 3:2 B) 4:9
(C) 9:4 D) 2:3
76. 721 ICe APIER SIS 2 : 3 | T© Y2157 (FFare] Seifs 2(J -
A) 3:2 B) 4:9
€ 9:4 D) 2:3
SPACE FOR ROUGH WORK
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76. T SEHAM HEEGRH TIATE 37T 2 : 3 AT S AT CEATSII T3 3T S8aT 7
(A) 3:2 B) 4:9
(C) 9:4 M) 2:3
76. < I 1 BISATST T ST 2 : 3 7 | AT oh S| BT I & ;
A 3:2 (B) 4:9
© 9:4 D) 2:3
76. The ratio of the radii of two circles is 2 : 3. The ratio of the areas of the circles
1S :
(A) 3:2 B) 4:9
) 9:4 D) 2:3
717. zrﬁmi:nﬁ,mx%% ERICREE
A 10 (B) 12
(€) 13 (D) 14
717. ﬂﬁx+%=4§§l,sz+% G NI
(A) 10 B) 12
©) 13 D) 14
717. @fﬁx+i=4,x2+%ﬁqﬁ3ﬂaﬁﬂf?
A) 10 (B) 12
(€) 13 D) 14
717. aﬁx+%=4,?ﬁx2+%wm=r%:
A 10 (B) 12
©) 13 D) 14
SPACE FOR ROUGH WORK
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77. Ifx+ i = 4, then the value of x? + % s :
(A) 10 (B) 12
(C) 13 (D) 14
78. 12 (5., %8 TraiTa ST g «BIe ifet t2ez -
A) 12+/3 w2 (B) 24+/3w.f.2
(C) 30~/3w.f.2 (D) 36+/3w.f.2
78. @i AL fqgreE ed el 12 TLA. 20 ©F e :
A) 12-/3T7LR2 (B) 24+/3T.f2
(C) 30+/3T.f2 (D) 364/3T.f2
78. 12 9.7y, SraYmg WA g9 ey srEnfRiam 3 geegfosn age Sme 7
(A) 12-/38.f.2 (B) 24+/349.f.2
(C) 30+/3%.fu.2 (D) 36+/3 &.f.2
78. T gHATE IS, fEeht o 6 arg 12 St 2, 39 B &1 8hd §
(A) 12+/3 T2 (B) 24+/3 a2
(C) 30/3 &2 (D) 363 @i
78. The area of an equilateral triangle with the length of the side of 12 cm 1s
(A) 12+/3 cm? (B) 24+/3 cm?
(C) 30+/3 cm? (D) 36+/3 cm?
79. IR sfiwaea wfeRt fegAi Isfiphon Tizeng Wve Bte @I-si Fez | 2ot 5izem

JF Oaf 10 .M. | AIFERC! A0 2.4 B, o1 [owt 1.6 . | I e @[l bizem
ST (R :

(A) 184 (B) 244
(C) 284 (D) 384
SPACE FOR ROUGH WORK
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79.

79.

79.

79.

T O AR @ 99{Pi Bifel @il SeRire FEce AR Fe1 | 2TSBb Hifer 2T
10 TLIEL | AmEEiG 2.4 . T4 @32 @9 &% 1.6 . | 3w Tl Gifers efcre 2

(A) 184 (B) 244

(C) 284 (D) 384

e 31 Tty rEm T A gEE w1 asad (Tiles) BH1 ARTRET | ThHE dgad
ATEYTE3N 10 8.1, | TiEm T 9731 2.4 fir. Merma A 1.6 . e | emt vew dgerd
T 7

(A) 184 (B) 244

(C) 284 (D) 384

o 3ot TE &% ®3 DI FBR TFAl T T3 A <hl ASHT ST T 8 | T T8 <hl qlT
10 T B | T8 2.4 Y. &l 31K 1.6 1. =<t 7 | T =1 fopat ergett it Strargerehan gt ?
(A) 184 (B) 244

(C) 284 (D) 384

Ravi plans to tile his kitchen floor with square tiles. Each of the tiles has side

of 10 cm. The kitchen is 2.4 m long and 1.6 m wide. How many tiles will Ravi
need ?

(A) 184 (B) 244
(C) 284 (D) 384

80.

& T2 % 2,000 RIS G4 R T S0 | AN (08 *RIMFE 20% SF 10% S
D! (q212 S I(F, (S0F (98 2RI & (e [FaieT bl AR Ffeet ?

(A) T 1,440 (B) % 1,400
(C) 21,540 (D) 1,500
80. 4T NS T 2,000 BIFl foTlRr® JeaTiat GG #A141 7 T¢I | T GT IAEFE 20% 9% 10% =Y
SR O I & DI F© GBIl ARy F00 =0 ?
(A) 1,440 (B) 1,400
(C) % 1,540 (D) % 1,500
SPACE FOR ROUGH WORK
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80. 2,000 foTA™ 58 THT T8 SIETE! 9™ g3 s/ | fom i wifd 20% 3R 10%
B A, 37T o B SHeE) S8 gl ¢
(A) 1,440 (B) % 1,400
(C) T1,540 (D) % 1,500
80. T el 3 Uk d@l Wiiel fweh! giga hima T 2,000 oAt | 3R W 20% 3T 10% I
AR Gl e et &, a1 36+ 96 o ford o yrar fomam 2
(A) 1,440 (B) 1,400
(C) 71,540 (D) 1,500
80. A man purchased a fan which had a printed price of T 2,000. If he received
two successive discounts of 20% and 10%, then how much did he pay for the
fan ?
(A) 1,440 (B) % 1,400
(C) T1,540 (D) % 1,500
8l — [ 4= (1) (-] — [ {= (1) (=1)}] T frefer et |
@A) -2 B) -1
© 1 D) 2
81. i frfu=a:
~ = D) (<D} — - D) (-1
A -2 B) -1
©) 1 D) 2
8L — [ {1 (-] ~ [~ & (1) (~1)}] Fr=m s < 7
A\ -2 B) -1
© 1 D) 2
SPACE FOR ROUGH WORK
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8l. —[—{~(-1) (=D}] — [~ {~ (=1) (=1)}] =1 % 1 A |
A -2 (B) -1
€) 1 D) 2
81. Find the value of
— [+ ED (D] -+ ED (D)
A -2 (B) -1
€ 1 D) 2
82. JGT “iesfbr =G! Bifde FIE@ 1, 1, 2, 2, 4, 4 BfTe [/ @i -tz | sirnsBEt 99"
2T I 2 o e/ @S (iR STeife! 2 :
@ 3 ® 3
© 2 ®) %
82. s 2ha W 4 TAFW 1, 1, 2, 2, 4, 4 ofEFe 741 Wiz | o @i et 2
ICRIGACIMIERACDIE
@ 3 ® 5
© 2 ®) %
82. TRH <TZHM e MG I 1, 1, 2, 2, 4, 4 T 2 | <3udE! W8 TRl 2 THI

HIGT TR SR STem
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82. Ueh U & 6 HoTohl WHAN: 1, 1, 2, 2, 4, 4 3AThd & | I i Teh S hehd T 2’ HW AW

ﬁﬂﬂ'ﬁﬂ?ﬂ%:

(A)

Wi N

©)

(B)

=

D)

82. A Die is marked with 1, 1, 2, 2, 4, 4 respectively on its six faces. The

probability that ‘2’ will face up on a single throw of the Die is :

A)

©)

Wi N

(B)

D)

B = o

83. I a=bWFa=37T, (S

A 9

© 3

(ab?)? x (3 ab)*

B) 1
®) 3

(ab?)? x (3 ab)*

83. Wa=b«Ra=3, W@ 9 x O(azbyy? S IM:
A 9 B 1
1 1
© 3 D) g
(ab?)? x (3 ab)* :
83. ﬂﬁameaZS, 9X9(a2b2)3 ﬁﬁa-[mm?
A 9 B 1
1 1
© 3 D) o
SPACE FOR ROUGH WORK
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(ab?)? x (3 ab)*

83. G‘aa:bﬁ-{aZS,W 9X9(a2b2)3 EFIIH:[%
A 9 B) 1
1 1
© 3 D) o
83. The value of (352:29?&1(%%1;)4 ,whena=banda=31is
A4 9 B) 1
1 1
© 3 D) o
84. o3l I[N 5% T ]S WK T 6,000 4K 3@ | AW (98 Qi[RI TI© T2 4
AT T PT@lg =R, (S8 AT FREesl 4o “Af{wiel 20 :
(A) 6,300 (B) 6,030
(C) %6,250 (D) 26,025
84. WEHIE (AT 5% 1 O =AW X 6,000 BRI 4K B | M G GFAPT o[@ 7o)¢f
eI 2RI T B O ©ItE F© 519l ee 23 ?
(A) %6,300 (B) 6,030
(C) %6,250 (D) 26,025
84. TS SERIN 5% &R T 6,000 TRt E3Ta SRR AR | Jfe fooai gF w8 Sheamre
it g@ e forien @ren, fafy g Tl faei smsd 2
(A) %6,300 (B) 26,030
(C) %6,250 (D) 26,025
84. IS A 5% Ufeh I 1 e H WL A W T 6,000 IUR fIT | 3R 9% woh 7 % 37q d
ot TR T T ST BT BT BT &, a1 38 fehaT T T YA HTAT IS 2
(A) %6,300 (B) 6,030
(C) %6,250 (D) %6,025
SPACE FOR ROUGH WORK
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84. Manoj borrowed a sum of ¥ 6,000 on simple interest at the rate of 5% per
annum. If he decides to pay the entire amount at the end of one month, then
the amount he needs to pay is :

(A) 6,300 (B) 6,030
(C) 6,250 (D) 6,025

85. AMia>b, (a>0,b>0) =T, (S IS @G Tfe 7oy ?
(A) —a<-b B) —a>-bD
(C) a<-b (D) —a>b

85. Aia>b, (a>0,b > 0) 2 ~ S@ERS @b 7o) ?

(A) —a<-b B) —a>-b
(C) a<-b D) —a>b

85. Jfca>b, (a>0,b > 0) ™M T« A= 841 7
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b

85. Ala>b,(a>0,b>0) A HHAHABHAATAE ?

A —a<-bD B) —a>-b
(C) a<-b D) —a>b

85. Ifa>b, (a>0,Db>0), then which one of the following is true ?
A —a<-=bD B) —a>-b
(C) a<-b D) —a>b

SPACE FOR ROUGH WORK
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Q. No. 86 to 88 : Choose the correct SYNONYM for the given word :

86. Pompous

(A) Humble (B) Simple

(C) Haughty (D) Unpretentious
87. Timid

(A) Courageous (B) Brave

(C) Coward (D) Bold
88. Virtue

(A) Vice (B) Morality

(C) Dishonesty (D) Unworthy

Q. No. 89 to 91 : Choose the correct ANTONYM for the given word :
89. Harass

(A) Irritate (B) Comfort

(C) Molest (D) Seduce
90. Gorgeous

(A) Magnificent (B) Dazzling

(C) Beautiful (D) Dull
91. Bloom

(A) Wilt (B) Revive

(C) Plant (D) Dry
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Q. No. 92 to 94 : Choose the correct preposition :

92. I always get nervous when I have to speak an audience.
(A) 1n the front of (B) 1in front of
(C) 1infront of (D) affront of
93. Submit your assignments ten days of the announcement.
(A) within (B) by
(C) with in (D) before
94. No student or teacher should be this famous reference book.
(A) with (B) without
(C) given (D) despite
Q. No. 95 to 96 : Choose the correct option :
95. A number of vehicles travelling together under escort for the sake of safety is
called
(A) Regiment (B) Convoy
(C) Escort (D) Cavalry
96. Love for one’s country is known as

(A) Jingoism (B) Patriotism

(C) Nationalism (D) Expatriate
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Q. No. 97 to 98 : Fill in the blanks with correct options :

97. A gifted scientist, Newton some of the most fundamental laws in the

history of science.
(A) keeps discovering
(B) who discovered

(C) discovered

(D) kept from discovering

98. We are all worried about the condition of the company.
(A) monetary affair (B) financial
(C) finance (D) monetary

99. Choose the correct order to complete the sentence :
I.  relationship between two or more
II. people, places or things
III. a relationship in space or time as a logical
IV. prepositions are used to show
A) ILIIL IV, 1 B) ILIV,I, III

© IV,ILIL1II D) IV, 1L ILI

100. A group of lions is called
(A) Herd (B) Pride
(C) Pack (D) Bunch

SLRC-2022/P-I/A 64 ZiR



101.

101.

101.

101.

101.

PENTAGRAPH — ENTAGRAP — NTAGRA — ?
*RYFCH! SI9IRGI2 o= TS =051

(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
forfafie w0 TS FACS 798! =716 P 2(J ?
PENTAGRAPH — ENTAGRAP — NTAGRA — ?

(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
BT BRGNS 8141 AT AR 3719 |1 Hiela = T € 7
PENTAGRAPH — ENTAGRAP — NTAGRA — ?

(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

@ PENTAGRAPH — ENTAGRAP — NTAGRA — ?
ST T b ot 31T o g 2

(A) GRAT (B) TAGR

(C) NTAG (D) AGRA

102.

102.

102.

What would be the next to continue the series :
PENTAGRAPH — ENTAGRAP — NTAGRA — ?

(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
7—10— 15— 22— 30 — 42 — 55 SR S T o 41 |
(A) 30 (B) 15

(C) 22 D) 55
ferferis wfbrs srem k2l fifee 74 :
7-10-15-22-30-42-55

(A) 30 (B) 15

(€ 22 D) 55
HIETE AR TR 17 faema i ¢
7-10-15-22-30-42-55

(A) 30 (B) 15

(C) 22 D) 55
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102. @ H TeTd g ol TE=H i |
7—-10-15-22-30-42-55
A) 30 (B) 15
© 22 (D) 55
102. Identify the incorrect term in the series :
7-10-15-22-30—-42-55
A) 30 (B) 15
(C) 22 (D) 55

103. (2, 6, 24, 60, 120, 216) *RIETGIS el IR o 41 |

(A) 216 (B) 120

(C) 24 D) 0
103. frafefis wwfbes srm )41 fofse 74 -

(2, 6, 24, 60, 120, 216)

(A) 216 (B) 120

© 24 D) 0
103. HINSTE AHR TR M faeee! e ¢

(2, 6, 24, 60, 120, 216)

(A) 216 (B) 120

(C) 24 M) 0
103. @ H TeAd UG ohl T&= i —

(2, 6, 24, 60, 120, 216)

A) 216 (B) 120

C) 24 D) 0
103. Identify the incorrect term in the series :

(2, 6, 24, 60, 120, 216)

(A) 216 B) 120

(C) 24 M) 0

SLRC-2022/P-VA 66 o



104.

104.

104.

ferfettie oRifR 12 fRemal 41 —
T 1: 46 FA

2 : 1R
T3 : IV 15 F ¢ =W (o8 “RIT 1 & & @R ST SRR 777 STg 347,
et 7RI 4 ¢t =9I @il

AT 4: 36Tl
A5 : AW 18 S0F Tled 27 (S0 2 [ 41
SR T 2 4 TAEIS “=I7R SO oI Tl ARCeT e weiizret <5 2'7 2

@A 1 (B) 18
(C) 17 D) 19
femfeifire emeorester Rne 94 :

g1 4 IR

q2: 1R@eFR

g3: AW 15 (A TN R OE 1 R I IR T (/TS S0 95 Tl 4 712 41Ce
Qe TS |

g4 : 3 5 F9 |

qof5: 18 (A3 I2ed 3@ 2 [

2N T 2 TR IS 03 SAEIS USSP 0T ST T2 Bl 20 2

@ 1 (B) 18
©) 17 (D) 19
MR STRTFIRE! AT A E —

AM1: 4N

JAMM2: 1qHEE

amm3: e 15 1 g3 gefia S, AT 1 e et A SR STt ;
JETeAT 3TH 4 T 9w gt |

AMM4: 3N

M5 fe 18 T gz i 9w, 2 gFE’

Sife TSI 3T BREt Fifafim o 2 ST grermivsett, Steen e 91 A= ?

A 11 (B) 18
(C) 17 D) 19
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104. F=feriad =won o fomm =t
WO1: 48|

WOT2:  1EeH |
TOT3:  Ifc 15 T HA R, A1 =IO 1 W AR 3R 96T ¥ AR T; A=IUT =L0T 4 W 37 & |
TWOT4: 3|

TOT5: e 189 Il B, a1 2 Wl |
e IYTH =T T YT 2 o TR I & G1ef fehart Sran &, o 31fam aiomy s g ?
A 11 (B) 18
©) 17 (D) 19
104. Consider the following steps —
Step 1: Add 4.
Step 2: Subtract 1.

Step 3: If less than 15, jump to step 1 and continue from there ; otherwise
proceed to step 4.

Step 4: Add 3.
Step 5: If greater than 18, deduct 2.

What would be the final result if the above steps are followed with the initial
value of 2 ?

A 11 (B) 18
© 17 D) 19

105. RS (@R @I 178 “Tge (&l : SRR T b7 T 570/ o1 0T ?

Q) Il : feEfE o Rea (B) a3 : sela!
(C) T=IR: (5250 o 2%l (D) el : SrEZe
105. TG SaEre @ (Sl “en Vel : DRER" 98 T GPESI THFS ?
A) Fere! : ferEif meEiEs (B) THAR : ATl
(C) YRIT: e o= el (D) el : Sreze
105. e o1& SET “TeH feeelt : IR S 9l o ¢
(A) HicTenrar : frarifa ow'fae (B) =8 : AT feheet
(C) Y=g : Ted 3% gfean (D) 3T : ATeHEA
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105. fr=fafaa 9 9 %9 91 et 34 aE gafia 8 S8 «a8 feoett : = i @1 ?

(A) whicthrar ; faereifar aaifes
(C) Y=g : ed 3T sfean

(B)
D)

[ o
EEEMNINIE ]

JATAT : distHaA

105. Which of the following pairs is related in similar way as “New Delhi :

Charminar” ?
(A) Kolkata : Victoria Memorial
(C) Mumbai : Gateway of India

(B)
D)

Chennai : Red Fort
Agra : Taj Mahal

106. TS (PIFG 0 93 w7 o0 72 2
(A) Tog: E
(C) &I « e

106. 73 SEfe @ (SOt g =17 ?
&) T o
(C) ifml : el

106. TERIM & ST s T8 ?
(A) e fef -« gga
(C) T fafim - JA1e

106. fr=ferfiaa & & i a1 e Tt T8 8 2
(&) e : et
(C) rofisme ; gmoft

106. Which of the following pairs is NOT correct ?

(A) Geology : Earth
(C) Zoology : Animals

(B)
D)

(B)
D)

(B)
D)

(B)
D)

(B) Meteorology : Atmosphere

D)

TGl : RN
TeiReIE : TR

RIe| @ : IR
TSI : 21PN

AR fofRm - arfafy
ST farfie - argmm

HIEH{aR : agHvSd
S« 3Taie

Astrology : Space

107. NFTBIRT FIce 7ifFe =751 foaire 41 |

A) IS B
©) wEE D)
107. SRS 2] 70 TifFe s(fFeri fbfes 39 -
A) T B
C) = D)
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107. THIYS EH=GT M7 SgeRg AR ?

(A) HHIRTS (B) I

(C) et (D) =it
107. T § HETd 216G h T59H i :

(A) TS (B) ®HA

(C) Heas (D) =it
107. Identify the term related to the military :

(A) Camouflage (B) Carnage

(C) Cabbage (D) Cartilage

108. FoTafeTIs (FITCE! *137 22 “BfeseT : Arzer” T=orFT5a STopet =01 1o T 2

A) IS = (B) o : @&
(C) TPzl - ifa (D) <=1 : TE0
108. 10 (TS (STIBTER T (T “2[e : AL 97 T© GRISI THES 2
(A) 47 ©F (RFIIGHD) : A1 (B) 1 :
(C) I : 2D (D) I : 15
108. TR §& SRl “J=1: TR Fafed Jm<l ¢ ?
(A) Tremie : STee B) g5 :faf
(C) ¥ :wd (D) s :&§d
108. T T et ¥ ¥ fhoeht vay “GoF ; 9T ST R ?
(A) Trame : s (B) oTT: g8
(C) u: ke (D) et 92
108. Which of the given pairs has a similar relationship as “Engine : Vehicle” ?
(A) Filament : Bulb (B) Thread : Needle
(C) Cup: Plate (D) Ball: Bat

109. GBI (35S TGS SR IR FRLYIG! ire =4 |

(A) 1331 (B) 1728

(C) 3375 (D) 2788
109. TR (B9 =11 1€ 74 Hire 79 -

(A) 1331 (B) 1728

(C) 3375 (D) 2788
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109. E=TRETE ATTe IHESHE = 2

(A) 1331 (B) 1728
(C) 3375 (D) 2788
109. 3 HE&T sh! Yg=H L o T § Heiferd T BF1 =R |
(A) 1331 (B) 1728
(C) 3375 (D) 2788
109. Identify the number that should not belong to the group.
(A) 1331 (B) 1728
(C) 3375 (D) 2788

110. S *1379 ACS & *37C6! DI 41 |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
110. ST (AT 523 =176 B 9 :

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
110. TSI BRI THT Fe@! IR ?

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
110. 39 3155 3! T8 L Il g § HT 2 |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
110. Identify the word that is different from others.

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES

111. o 2R Pre oaife T2 @ Ie@ ' @ — “O (N FHITESR GG @1 SR 17
IEA TS SR TFHD! F 2

A g (B) [
©) & (D) sifart
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111.

111.

111.

111.

Mo TR 0 AR FRE TG A6, “01 AN FromEd 9Fg “@d 01 |7 el
TSI S0 PO TS 2

A) = B) @@=

(C) =it (D) =i

faTs” | Trarer USsT o1 Jmgl ?

(A) femm (B) feammE

(C) fomme (D) foem

TS = e o aftar d BT T S B, “8 TR QIET % Sohalld S Sl Sel @ |7 T Wit §
Y el g ?

A) = (B) =&

(C) =i (D) st

Introducing Geeta to Priya, Rajani says, “She is the daughter of the only son
of my grandfather”. How is Geeta related to Rajani ?

(A) Mother (B) Sister

(C) Aunt (D) Niece

112.

112.

112.

112.

112.

W 4532986 TRAIG! SEIGIT o141 ', (SC8 e SIRANoS 4] SRFCH! (=R

A 5 (B) 3

€) 2 D) 9

Tt 4532986 M Roidhe e @A @14t A7 ©@ @ &0 2+ SRS 9@ 11
A 5 (B) 3

©) 2 D) 9

4532986 W 3T Telisat s — SAFTSTHTRIT A TG TRTRATT ST ?

A 5 (B) 3

€) 2 D) 9

e T 4532986 1 Ieie fean Sw, 1 918 e S 3o R 18 seeran 2, 98 2
A 5 B) 3

€) 2 D) 9

If the number 4532986 is reversed, the digit that does not change its position,
1s

A 5 B) 3

© 2 D) 9
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113.

113.

113.

113.

113.

3G AT G 75! I FRfeiie @R *=<re ETHi2 =i ?

(A) MAN (B) LAME

(C) NOTE (D) KILN

ToTC Teafe *resTet Wy (i =G BR&! IR 78! 76 360 STeee PR ?
(A) MAN (B) LAME

(C) NOTE (D) KILN

MR 4 - TG 319 s FREHTE M ToRYR 316 U™ Ai=dl gRaIsT §6TH © |
(A) MAN (B) LAME

(C) NOTE (D) KILN
frerferfiga o @ fore wreg # ST SoiaTen o <) Hod Tey e E ?

(A) MAN (B) LAME

(C) NOTE (D) KILN

Which of the following words contains both of the two middlemost letters of
English alphabets ?

(A) MAN (B) LAME
(C) NOTE (D) KILN

114.

114.

114.

ol weitar FIf SIRITS ey &2t 4 (IS JIt, 3 (IS ©09, 6 G4 <IiCT, 2 (A
T, 10 TG W IF SRS 2 (IS A | S Z AATE (08 Gfisq 7% 12302
R ?

A) 3 XE oo (B) 1 (3% €oT©
(C) 9T ETS D) 3 (IS TS

T frc =T T feaieemt 4 415t 11T, 3 4191 0o, 6 4191 =N, 2 191 B, 10 419 o 9<R
2 171 T | 2151w Fat FIfGA AR TR 7 (@i SRai =Mz 2

(A) 3 4o BAF (B) 141%T@

(C) «P2EE (D) 3«7 qE

Rt e ceeaEeEEREE 3TH 4 TEEE B AW ANH 3 TREE, ATTH 6
A, ANE 2 TE@™l, MH 10 SE@Esd 3 ATH 2 Saedr | o =W
SRS STATHSH A G! ATRg-T fof mean o et foga 7

(A)  STRTFYT TSt (B) SANTHE TS

(C) T IETHE g (D) HARTH ATH &S
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114.

Teh WGl © e A0 999 TS 4 hed 1=, 3 el I, 6 el H9, 2 THed HHR, 10 Hed
I AR 2 Hew F19 TAd1 & | Tal & 36 IE [hAT AT 39 YEIAT hed o arad H 98 31§
FE TS 8 ?

(A) 3 heHJIW (B) 1hcHIW
(C) 3t SHTE W (D) 3%hea
114. While coming down a staircase, Jignesh walks down 4 steps, up 3 steps,
down 6 steps, up 2 steps, up 10 steps, and down 2 steps. Where is he
standing in relation to the step on which he started his exercise ?
(A) 3 steps above (B) 1 step above
(C) The same place (D) 3 steps below
115. fafeTfIs (FITCGH 12 SRR *@re i e TRSth! SRpiad 341 712 ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
115. T0y Searfew e (s Syer Akl i foms speprel sef ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) O0QSUW
115. TERI S AT 40 @M GI-TSl Sfer ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
115. FHfRad § § M gEti gRI 4t = 1 e &1 shiat & ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
115. Which of the following does not follow a rule set by others ?
(A) MPRTV (B) PRTVX
(C) CEGIK (D) 0QSUW
116. A+ B39 2, AREBIMG IA-BITLT, ARZBICY | A@ B394,

2, ATZ® BI P9, 9T A x B¢ (2= A 275 BI @4l | FRERS @G ez e
FE @ PR QI ?

(A) Q-N+MxP B) P+SxN-Q

(C) P-M+NxQ D) Q-S@P
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116.

116.

116.

116.

A+BRWRARAZEBEIN | A—-BARIRNAZFBYI©2 | A@B @A 2 B @3
7ol @3 A x B @RI A 281 B @3 @ | 103 &l RPe1b @RI @ P 291 Q @31 S |
(A) Q-N+MxP B) P+SxN-Q

(C) P-M+N=xQ D) Q-S@P

A+ B s smem A 3t B femm | A — B 3 31 sema A 31 B T4 wem |
A @ B 1 1o smem A 3 B 7 fawr | A x B 3ifern sem A 3t B [ femmme | R

o 7Y g T P @t Q T fomm fefRrn o
(A) Q-N+MxP (B) P+SxN-Q
C) P-M+NxQ D) Q-S@P

A+BHiAdae A, BHI A8 |A—-BHAdd A, B9S2 | A@ BT Hdeis A, B&h1
a1 8 3T A x BT 0ot A, Bt 984 7 | f=faRaa o @ o o faseu eoiar 2 6 P, Q
HIAMIE ?

A) Q—-N+MxP B) P+SXN-Q

C) P-M+NxQ D) Q-S@P

A + B means A is the mother of B. A — B means A is the brother of B. A @ B

means A is the father of B, and A x B means A is the sister of B. Which of the
following alternatives shows that P is the maternal uncle of Q ?

(A) Q-N+MxP B) P+SxN-Q
(© P-M+NxQ D) Q-S@P

117.

117.

N @F B3 (19 eferiforere F5es 5F 63 ¢efE @ifzs st =ifee | wifey
ZfTe ol i, 57 g TWre o PRI o9 i | eferirel wiey y2de
PRI T 57 R O DF GG MRS @2 @iz ¢3¢ afsrifrers
fer o w03 | efswifareiite @it =S 2 e Fffee 2

(A) IS (B) wou!

(€) fF=e (D) P

G fb AN efsrifarer @ifEs R @ qfbie e «3r (5o e oiF 5% Preg |
G feeT @RI o =, 8 g T o o7 PRI 2ftw a7 | @I o A
PorF) e =ifew 77, 5% o2 T @ @ifTes Jiftw efswifer & «fe @ |

(3 AR EferIfare] 7=9)¢f HC0R ?
A Wiz (B) T
(C) fae (D) Pr:
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117. A8 HEhel GAR SERERARE Hifgas sstgs fam o ol s3umsmer feo |
WHRT 91 AU A | U™ €8 99 316 Ulh@! Ira’= | e fufss
foptoraEt s’ foreh & THTEAT SteeT WHRN WifgdEt SRE T SIERARARE @M g |
ST TG AT ST ATIHTE! SIS G377 77 ?

(A) Hifed (B) wm
(C) fertur (D) ffss

117. T G1Efhd <re U fohtur o1 Stk e BIS Wifed e | 311 =t TaT AT | 9T 37| w2 wX oft
Sifer %o TH a1 fisht & 3 faepat 8 | st we w, Tkt fortor @ S a1 frepat STt
7, ST 9T Hifgd & 3T fehat oL 14 Sfid 91l @ | e 3ifaw fopee gt <6t 2
(A) Hifed (B) wm
(C) frm (D) fuht

117. In a bicycle race Mohit was leading the race with Kiran just behind. Reshma
was at the last position, but after some time overtakes Pinky. At the last
bend, Pinky overtakes Kiran, exactly when Reshma overtakes Mohit to win
the race. Who completed the race last ?

(A) Mohit (B) Reshma
(C) Kiran (D) Pinky

118. 5% e @1 A R4y F 55 Prze @bl 2:q6! 4@ &g R4S A0 4
ot ?
64D53413BD684U64AM154E9G316KLB24054
A) 5 B) 2
© 0 D) 3

118. ey (req Fibre GG G 4 Stz A1 B a8 2 Gis 32 72yl =iz @< 0%

HRTS! E 410 206 T3 =NZ ?
64D534I13BD684U64AM154E9G316KLB24054
A 5 (B) 2

©) o D) 3

118. TERTE S BIIEE FiH6Y 4 € TSR & S s13fmT 311 34« T grEl € ?

64D534I13BD684U64AM154E9G316KLB24054
A 5 (B) 2
€ o D) 3
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118. < 7T *TEel # Td fohe 4 & 6 ik vaet Ush aw wE 2 3R Sieh a1 U IS wat @ 2

64D53413BD684U64AM154E9G316KLB24054

(A) 5 B) 2
) o (D) 3

118. How many 4’s are there in the given series which are immediately preceded
by an even number and immediately followed by a vowel ?
64D53413BD684U64AM154E9G316KLB24054
(A) 5 B) 2
) o (D) 3

119. 36, 34, 30, 28, 24, ...... XRYECHR TS I 5! A4 A6 2

(A) 22,18 (B) 26,12
(C) 25,15 (D) 20,10
119. TGS : 36, 34, 30, 28, 24, ...... T 75 IR ARTEI0S ST 2
(A) 22,18 (B) 26,12
(C) 25,15 (D) 20,10

119. TR BINETE STARITE THEIN TR 7431 |77 ?

119.

119.

36, 34, 30, 28, 24, ......

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20,10

ST@AT 36, 34, 30, 28, 24, ...... H 3T S €l g FEATT S =R 2

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10

In the series : 36, 34, 30, 28, 24, ...... which two numbers should come next ?
(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10

120. R =<1l foetie 51

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
120. 0" = eTal (A0S Siffe Al <1 iz o -

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
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120. TR 56 HHE AT WESRRE ?
(A) Egypt (B) Angola
(C) Uganda (D) Sudan
120. Fr=faRaa wregi @ @ forwm w1eg st vg=m Hifsre
(A) Egypt (B) Angola
(C) Uganda (D) Sudan
120. Identify the odd one in the following words :
(A) Egypt (B) Angola
(C) Uganda (D) Sudan
121. 12, 11, 13, 12, 14, 13, ?, ... RGN &M@ Bz (?) bro 5 afq 2
A) 10 B) 16
C) 15 (D) 13
121. @609 < 12, 11, 13, 12, 14, 13, 2, ... & 7RI 216 (?) o2 2 7 T3 2
(A) 10 (B) 16
©) 15 (D) 13
121. 12, 11, 13, 12, 14, 13, ? , SIITE AT BRETIAT 7@t 91 3HT9TS @er - grme 2
A) 10 B) 16
(C) 15 (D) 13

121.

@Al 12, 11, 13, 12, 14, 18, 2, ... H, Team=e (95 (?) % &M W HH d §&71 30
27

(A) 10 (B) 16
(C) 15 (D) 13
121. Which number replaces the question mark (?) in the series : 12, 11, 13, 12,
14,13, 7, ...
(A) 10 (B) 16
(C) 15 (D) 13
122. AW Parts S Strap * 7ol @I RO FRs SRR 7ifFe =, (S 9T ReE
Wolf =CBl (Pl #1979 (TCS 7~{{Fe 2’7 2
(A) Flow (B) Animal
(C) Wood (D) Fox
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122. Parts 932 Strap *R1CSIClb IV (& G5 SHIR TIF® 27 O Szl TR Wolf @3
S TS *17 I ?
(A) Flow (B) Animal
(C) Wood (D) Fox

122. _g’f\a Parts 3T Strap @eie SRS ST HFE TN A6l THT, TERIM 96 Fiesl @
TG Wolf STt @mrel M1 7
(A) Flow (B) Animal
(C) Wood (D) Fox

122. ¥fe 315¢ Parts 3T Strap rH! @i @ Hafed €, a1 f6m 31sg o1 Wolf & o0 &9 1 Hefa
BT =1RY ?
(A) Flow (B) Animal
(C) Wood (D) Fox

122. If the words Parts and Strap are related in some ways, then which word
should be similarly related to Wolf ?
(A) Flow (B) Animal
(C) Wood (D) Fox

123. (@I ¢F 3T PR B MILITARY § NIMIUASY 251t o141 (22 | 930! F To
SEMINARY 3 (W 123 =i ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

123. «f5 8 e MILITARY 3 NIMIUASY @13 =¥, ©F I32qF HFS IA2A
3 SEMINARY eI @E1%1 24 ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

123. @8 38/ (Code) S, MILITARY @ NIMIUASY foiam Sigt | SEMINARY @ &
T SERTST AT fer 2
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

123. ws fafgad #ig & MILITARY & NIMIUASY for@n Sirar 8 | 36t s & SEMINARY
o1 A forat e ?
(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
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123. In a certain code, MILITARY is written as NIMIUASY. How will SEMINARY
be written in the same code ?

(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY

124, IR (@EG!*1 GG (IS TREe 723 ?

A) wiRE (B) FEHifeTs 18

(©) w= (D) TarEEE
124. 10 SRS *HSER N @I 20 958 (HAR STBES [ 2

@) wR® (B) TFIfeTS CTp!

(C) wenllfe (D) TrorERE
124. TER S WY HGST T E-TTE IS ?

(A) e (B) #xtfes

(C) el (D) 3T SR
124, Fr=ifciRad ® & s 91 316g T9H g ¥ GEfd 18 & ?

(&) e (B) Hiewie

(C) Tl D) =g
124. Which of the following words does not belong to the same group ?

(A) Ship (B) Motorboat

(C) Train (D) Aircraft

125. RS I *=7 6 SRR Wl T2 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
125. 0 Sra e =gt s[4y (Pl *=is Send (S fon ?

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
125, BRI S A HIGHT HATET 9 HQISH R & ?

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
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125, Tferfiad § @ <M &1 3reg 39 wegi 4§ fird 8 2

(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft
125. Which of the following is unlike with the rest of the words ?
(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft

126. SEGre 41 &M@ 5 (2) (B 5T I8N Iy FAAIH! 52 7

299 5

1491 19

A) 597 (B) 697
(C) 497 (D) 579
126. TGS MR (?) HrEg #IRICS ARy 7RI =16+ 39

298 5

1491 19

A) 597 (B) 697
(C) 497 (D) 579
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126. fefRr 319 o™ S BIERET fAE e T SRS g ?

299

?

1491

75

(A) 597
(C) 497

(B) 697
(D) 579

126. 35 YT AT 1 = L A e 731 Yo | yearees fagd (7) &1 &= ot

299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 D) 579
126. Choose the possible number that would replace the question mark (?) in the
pattern :
?
299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 D) 579
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127. TS, QLTSS A9
G NHACFIHIF TS Tl (FIC! (o 52 alfsfifig g 2

&
©) (D) @ O

127. FGR @& oo oafb afsfiag T @3 i<

3Ifs, SIS,
B)
©) (D) @O

127, e & U HIRTNSAT Hel, el ST, JET BRI ?

©) (D) @ O

127. freferfiga 5 & = | o fom <greft, ", sre o ghatifie s ?

D) @ O

127. Which of the following Venn Diagrams would represent Elephant,

Carnivorous, Tiger ?
» @O
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128. 93 B@T=a FINE! og o BTzt o2 ?
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129.

129.

129.

129.

129.

<51 s @ T S eI T e (yedl (2 |

1 6
4 3 5 3
3 5’ forat PSR o Rede s 241 =iaiht (2t
@A) 2 B 3
€ 4 D) 6
T G2 BHCSP T CHIRICAT =, I G Foafl3a] (LI
1 6
4 3 2 3
SRCE RS EICK [CERSTIITEG P
@A) 2 B 3
© 4 D) 6
oA TR SHE! W TRerarsar, fof fhamse TemEme 8- S S|l g1 |
1 6
4 3 2 3
Torfesan 5 T ettt fogama amm smfERn A ?
@) 2 B 3
€ 4 D) 6
STel Ueh &l UTH i &l STCEHR SITdl &, a1 IRomy JEf feeme T S @
1 6
4 3 2 3
T8 o 37 5 o fIuiid Heteh T 37 8 :
@A) 2 B 3
€ 4 D) 6
When the same Die i1s rolled twice, the outcome 1s as shown :
41 3 26 3

The digit on the face opposite to 5 is
@A) 2 B 3
) 4 D) 6
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130. &we B (FIFCB! BRI CFao T SN (Fiel TR @9 360° P T F ?

A

¥ ~

B

V4

D

A B (B) D
€ A D) C
130. Babre @i SAMHGI Sreredie IR e 360 T 4 2

4) B B) D
© A (D) C
130. & G 9o @iaral 38 @1 geTea 311 360 fefitgs w7

a0
VA
D
A) B B) D
© A (D) C

130. < Tt 3TTRId H, ToRE ST % ST vl 1 A1 360 Tt A hm g ?

A4) B (B) D
© A D) C
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130. In the figure, which component has the sum of the internal angles less than
360 degrees ?

o
VA
D
A B (B) D
© A D) C

131. &7 HePTR SR 41 o< “ 2~ D=6 927 «[1 foaes! Ko< Sfere |
OO
JANV-NE
=&

0 O AN
© ﬁ (D) E>

131. 6@ AT SR I 2AEIR (2) 97 A0S @ B 2@ os @ I |
OO
JA\Y-NEK
==

o O AN
© ﬁ (D) E>
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131. MRS IEE! AR 30 G SRAER e g @ ?

OO0
ANV NI
=> (>

w O AN
©) ﬁ (D) E>

131. =i & THg 1 3129 L 3T qa1 i fob b a1 fo « 2 <1 wferwentua sam ?

O|0|0O
AN\A
=> >

o O » O
©) ﬁ (D) E>

131. Study the set of figures and find out the one which would replace “ ? ”

Q0|0
A

D)
A) @ (B) @
©) ﬁ (D) E>
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132. i+ SRS e Bach! foere 54 -

7 W vy

A B (B) D
€ A D) C
132. SE (AcF fom At weTmi oaft bfes 994

Y7 W vy

4) B B) D
© A (D) C
132. TR JTeATET ATt AR |

Y WYY

A B B) D
© A D) C
132. ORI | 37w fost 6l vg=e o

jop-S efi'r)

A) B (B) D
© A (D) C
132. Identify the figure different from others :

B W vy

A B (B) D
€ A D) C
0100
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133. ‘X’ 3 fofee bR wicsiie-aifsie foaw! tarz —

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

133. X a4t fofes bafta weiea afsle 2= :

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

133. X T grammita grRrE st 9« /e ?

D

X)
(1) 2 (3) (4)
@ @ B) 2
© 3 D) 4
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133. X’ &9 H fafed 31mepfd i gvI 8 3

D

X)
O IO
(1) 2) 3) (4)
@A) @
© 3

D

X)
QN O O
(1) 2) 3) (4)
@ @
© 3

B @)
D) (4

133. The mirror image of the figure marked as X’ is :

B) 2
D) (4

134. 52 A6 o7 &we HZ0 Rge @Ure sia e WG @ikt @Egd 273, o

foore 4 |

419

(1) 2)
@ @
© 3

SLRC-2022/P-VA

3)

(4)

91

B) 2
D) 4

P.T.O.



134, To= 9T PIE Y Al @IS SIS FE ¢l
IS @711 A3 ot fofees @t 2

41412

(1) 2 3) (4)

@A @ B) (@)
© 3 D) (4

134. T M foretrg@t fome) MHT [Tt G-TeetT MR g1/ gl JTaR TR ?

4 1919 9c

(1) (2) 3) (4)
@ @ B) (@)
© 3 D) @
134. 39 URex! 3fe ol fodier @ w Aret S 7, ai fearm ma e Shan fegrs e, 35! 989 :

419149

(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

SLRC-2022/P-UA 92 EAT



134. Identify how the pattern

would appear when the transparent sheet is folded at the dotted line ?

4 14 @ S

(1) 2) (3) (4)

A @ B @)
© 3 D) (4)

135. @7e SIfECG! 75 BlaeT e (RIAT S¥CG! foeie 1 ;

?

(1) 2) (3) (4)
A @ B (@)
© 3 D) (4)

135. @e oabe 7o)< el wiifG e el -

?

(1) 2) (3) (4)
A Q) B) @)
© G D) @)
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135. BT HeL@! 377 Q=T STErE i |

9

(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4)

135. 30 YT < TE=TH i ST e o1 T AT & -

9

1) (2) (3) (4)
A @ B) @)
© O D) (4)

135. Identify the portion that completes the pattern :

9

(1) 2) (3) (4)
A @ B) @)
©) ® D) (4)
0L 10}
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